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INSTRUCTIONS TO CANDIDATES
CANDIDATE SHOULD READ ALL THE INSTRUCTIONS
PRINTED ON THE QUESTION PAPER BOOKLET
BEFORE STARTING TO ANSWER.

Candidate shall write the Hall Ticket Number in the box
provided on this Question Paper Booklet before opening the
SEAL.

Candidate should not open the Question Paper Booklet SEAL,
until the indication is given by the invigilator to start
answering.

On opening the Question Paper Booklet SEAL and before
entering the Question Paper Booklet Number on the OMR
Answer Sheet ensure that the Question Paper Booklet contains
all the 150 multiple choice questions printed on it. If there are
any defects like missing papers, missing questions, improper
print, please ask the invigilator for replacement of the Question
Paper Booklet immediately.

Only after satisfying that the Question Paper Booklet is in full
shape, the candidate shall enter the Question Paper Booklet
Number on the OMR Answer Sheet.

Each question is followed by 4 choices : and
Candidate has to select only one answer choice and darken the
appropriate circle for that question in the OMR Answer Sheet.
If more than one circle is darkened for any question, it will be
considered as invalid.

Candidate has to obtain the signature of the invigilator in the
appropriate box provided on the Question Paper Booklet.
Rough work should be done only in the space provided for that
purpose in the Question Paper Booklet. No other loose sheet of
paper will be allowed into the Examination hall.

Do not mark answer choices on the Question Paper Booklet.
The digital copy of each candidate’s answered OMR Answer
Sheet will be made available in the candidate’s login in due
course.

The Question Paper Booklet is printed bilingually. viz.,
English/Telugu or English/Urdu. In case of any discrepancy
between English and Telugu or between English and Urdu
versions, English version shall be treated as final. If
appropriate word for any English word is not found in Telugu
or Urdu, it would be transliterated.

Candidate should not leave the Examination hall until the
completion of the examination time.

Candidate should not leave the Examination hall without
giving the biometric attendance. If any candidate does not give
his/her biometric attendance, his/her OMR Answer Sheet
would not be evaluated.

Before leaving the Examination hall, the candidate should hand
over the OMR Answer Sheet to the invigilator failing which
Criminal Prosecution will be initiated as per law, besides
rejecting the candidature for this examination.

Candidates are permitted to take away the Question Paper
Booklet with them after completion of the examination and it
should be preserved till the declaration of results.
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Consider the following statements :

A. Level of planning and size of a settlement in Indus Valley Civilization is not strictly
co-related. Bigger sites weren’t always better planned.

B. The relatively small site of Kalibangan shows higher level of planning than Lothal, which was
double in size.

Which of the above statements is/are correct ?

(1) A only (2) B only (3) Both A and B (4) Neither Anor B

1BO& 55 HDBIO0THSW :

A. D0 S'AH HBEBHES, (DeFDES FPONE  HOW BT IBIFETIE D& H0DOHT B, DJYeh

SIS (S @ (DETDSTRDID 5.

B. &) 8FODS $9004S S (HDEFDE o0 @0ES) BOB0Se VAT &S §8) WSYT™ HOBA.

DS AN DS 5O AE/DD DBIE/D ?

1) A SreD (2) B Ir&D (3) ADBASHBTOG> (4) A NBA B BOLy 5°)

Which of the following statements regarding early Vedic culture are correct ?
A. Polygamy was practised, but polyandry was not.

B. In Rigveda, there is little trace of the rigid restrictions typical of caste system.
C. ‘Vis$’ was a bigger socio-political structure than ‘Grama’.

D. The foundation of socio-political structure in Rigvedic society was village.
Choose the correct answer :

(1) A and B only (2) A, Band C only

(3) A and D only 4) A,B,CandD

SO IEE D029 BE H00EODS (B0 3556 DD HOTDSD ?

A, DTVFPE5H S0 GOTE, S 2TV BYS 0 GOBE S°C.

B. 20T 550" 50069555080 000D 9ch EE 2 reeren BY).

C. '[P 83 DV 9T F0E-T°B380D DBOT DOE.

D. roE-0°B80DH SBOMT 2208 5550 73°¢3 HORTIE e T*ON (PedO.

QB NAPGTEA0 DOTHT W :
(1) A B0 B Sr{ehad (2) A, B o805 C &r(ehadd
(3) A HBSW D Xr(ehadd (4) A, B, C 0805 D

Which of the following statements regarding Buddhist sects are correct ?

A. Sthaviravada believed in the concept of Nirvana.

B. Sarvastivadins viewed constituents of phenomenon as not wholly momentary but existing forever
in latent form.

C. Sammitiyas propagated the doctrine of soullessness.

D. Sautrantikas maintained that knowledge of outside world is only a feasible inference.

Choose the correct answer :

(1) A and C only (2) A, Band C only

(3) B and D only (4) A, BandD only

230 PO HOODS (80O 5506 DD ABSD ?

A QAT QT°569 AFTOBR) D08,

B. $ofgnano 2rmren 3500 EB3ERDDIMT 8 o8 550, MO FITMHE N DS ST DD
D3 FD0NB.

C. 8S$BYN DT0TR) DABONED [(HTTE0 TRS.

D. 25738 (rN0DE DAL DOZPXN QSO T AP @ @ 0oe3doen S8.

OB DTG0 DOTNT AW :
(1) A 0B3» C Sr(ehad (2) A, BB C Sr(edad
(3) B 0B05» D S7(ebadd (4) A, B8O D S

o0
Lol (2) =
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Match the following land types with their meaning :

Land types Meaning
A. Aprahata I.  Desert
B. Shadvala II. Fallow
C. Sharkavati ITI. Fertile
D. Urvara IV. Grassy

V. Sandy

Choose the correct answer :
(1) A-I; B-V; C-1V; D-III (2) A-II; B-IV; C-V; D-III
(3) A-II; B-V; C-1V; D-I (4) A-V; B-II; C-IV; D-I
180 Zrdned B57en, 8°¢3 €9Qa30e> 23653t

I57en 2T
A DS I. d@d
B. A& I D
C. Qoo I JSS0SHTS
D. &858 IV. 6000808

V. 9088 5@

OB DTG0 DOTNT R :
(1) A-I; B-V; C-IV; D-III (2) AL B-IV; C-V; D-III
(3) A-II; B-V; C-IV; D-I (4) A-V; B-II; C-IV; D-I
Which option of the following sequences indicates the correct chronological order of the religious
leaders ?

(1) Shankaracharya — Ramanuja — Chaitanya (2) Ramanuja — Shankaracharya — Chaitanya

(3) Ramanuja — Chaitanya — Shankaracharya (4) Shankaracharya — Chaitanya — Ramanuja

1BOB BXTOES Q DODE 065 0P HB S SPO(EXTOTEO DD N0 ?

(1) 308088 — TP — 35S (2) TR = 0808 — TSS§

(8) TIP3 - TedSg — 08Tty (4) 3080°Tr8S5 — BB — TP

Match the following kings in South India defeated by Samudra Gupta, as mentioned in Prayaga
Prasasthi, with their kingdoms :

King Kingdom
A. Mahendra I Kottura
B. Vishnugopa II. Kosala
C. Hasthi Verma III. Kanchi
D. Svamidutta IV. Vengi
Choose the correct answer :
(1) A-IT; B-IV; C-III; D-I (2) A-IV; B-II; C-I; D-III
(3) A-II; B-III; C-IV; D-I (4) A-I; B-IV; C-II; D-III

DO (DI (HSB0 Dedw(ed Ho)ch), S8 B30 4L,AB0DS 1§08 Trare DI 8 Traried
2SDGT0NW

ore® o°23$0
A Syerolsd I Sérd

B. DD 1. &

C. QS8 L. %00

D. 55 IV. 308

OB DTG0 DOTNT AW :

(1) A-IT; B-IV; C-III; D-I (2) A-IV; B-II; C-I; D-III
(3) A-II; B-III; C-IV; D-I (4) A-I; B-IV; C-II; D-III

el :
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7.

Consider the following statements :
A. Parantaka I took the title of Madurantaka and Maduraikonda.
B. Parantaka I defeated the combined armies of the Pandyas and the King of Sri Lanka in the Battle
of Vellur.

C. Chola territorial expansion did not continue under Rajendra I, the son and successor of Raja Raja.
Which of the above statements is/are correct ?

(1) A and C only (2) B and C only (3) A and B only (4) Conly

B0 55 HDBIO0THSW :

A 286 HTP0HEIE SDENT 0SS OGN SNEDEFOE 0T DBIENEN HPOTI™.

B. S O0P0S’ 286 HTP080cH ;0 T2, Be0E T°2Pe) &5sid DS 4.B0T.

C. T8 08 S0ITHNBS 28eS T°FB0(S 5006 5% Ar(S5ress DS esHFoN0d.

D AN DS 5D AE/DD DBIE/D ?

(1) A X80 C Jr(edad  (2) BB C AT (3) A DOAM B AT (4) C S(¢bad

Match List I with List II :

List I List IT
A. Tools I.  Paintings
B. Colours II. Seals
C. Indus III. Post Paleolithic
D. Bearded man IV. Steatite
Choose the correct answer :
(1) A-III; B-I; C-II; D-1V (2) A-I, B-III; C-II; D-1IV
(3) A-II; B-III; C-1V; D-I (4) A-I, B-1V; C-II; D-III
180& e I & 23w IT & 23650 :

e e 11
A DAA0EY I A
B. Jothen I SodEen
C. o I Jeed et DS F
D. #&ofieo Hda IV,  Daw)orow
QOB NAPGTEA0 DOTNT W :
(1) A-III; B-I; C-II; D-IV (2) A-I, B-III; C-II; D-IV
(3) A-IL; B-IIL C-IV; DI (4) AL B-IV; C-IL D-III
Match the following :
A. Samaharta I. Collector of land revenue
B. Sannidhata II. Treasurer

C. Dharmasthiya ITI. Courts which decided personal disputes

D. Kantakasodhana IV. Courts which decided upon matters related to individuals and the state
Choose the correct answer :

(1) A-IL; B-I; C-IV; D-III (2) A-I; B-II; C-III; D-IV
(3) A-I; B-II; C-IV; D-III (4) A-II; B-I; C-III; D-IV
80 3°¢3Q 235G

A 358 L 2550 3 e T ©0H5°0

B. Q) oeeh II. 3058

C. BN ML X5805e eeyen HONYZOOH T°§OH Frren

D. 30&3FHS IV. 55800250 08050 072358 e ie)@edd HDBNLB0tH TN TN
OB DTG0 DOTNT AW :

(1) A-II; B-I; C-IV; D-III (2) A-I; B-II; C-1II; D-IV

(3) A-I; B-II; C-IV; D-III (4) Al B-I; CIIL; D-IV

(][]
L} (4) i
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10. Consider the following statements :
A. Harshavardhana wrote three plays named ‘Ratnavali’, ‘Priyadarshika’ and ‘Nagananda’.
B. ‘Nagananda’is about the Jain prince Jimuatavahana.

Which of the above statements is/are correct ?

(1) A only (2) Bonly
(3) Both A and B (4) Neither A nor B
B0 55 HDBIO0TSW :

A SEIB0E0 ‘B) 39, (DONDBYE, ‘TIPSO @90 X05°¢ 7SO BOT.
B. ‘TS0 B TPHSTIRN 2260 s HS020H0D0H.

DS VS 5DES T 5DIOS DE/AD DDA/ ?

1) A S (2) B Xr&d

(3) A B8 B Bocky (4) A B3N B BOKY 5°)

11. Which of the following statements about Muhammad-Bin-Tughlaq are correct ?

A. He continued Khilji’s policy of reducing the village headmen, namely ‘khuts’ and ‘muqaddams’ to
ordinary cultivators.

B. He created a separate department called ‘diwan-i-amir-i-kohi’.

C. His agrarian reforms had a long term impact, but failed disastrously during his reign.

D. He established new measurement of yard called ‘gazz-i-sikandari’.

Choose the correct answer :

(1) B and C only (2) A, Band C only

3) A)B,Cand D (4) AandD only

03028 S- 511550 H020H0D (808 T 5WIOS DD DB ?

A, ([POTTONE T8 TOAD ‘DIEY’ “30EQD’ @ PTG 353 ONTTEENTT 35°8 ) é’Dgg N0 B
S 0T,

B. ‘OS-2-0005-3-5 ©F (D858 TP °DOTID.

C. ©$ SSF0H Doy Been AYsOE 1Herard) $O8 HoBY, RV $S FOIS @ SHom

QDRI FOW.
D. @ " -R-28058" ©F § 1123850 TR (D33 DLW,
QOB DIPGEI0 DOTNE W
(1) B 0835» C Sr(ehad (2) A, B8O C S3(edad
(3) A, B, C8as» D (4) A BAN D S3°(ehadd

12. Consider the following statements :

A. Alauddin Khilji had set up four markets at Delhi as part of market reforms.
B. Each market was under the control of a high officer called Shahna.

Which of the above statements is/are correct ?

(1) A only (2) Bonly
(3) Both A and B (4) Neither A nor B
Bo& 55D HBKeIod0 :

A S7BYE 500800’ ertor ©EHS DY ADS’ Treni S8R FHOT .

B. 106 538365 &) 5 0050 900 27 0B ed) .

DS VS 5IAS DO DE/D DBSE/ ?

(1) A S (2) B XreD

(3) A N8 B Bodskw (4) A DB B BOKY 55
.. E5E
Lol (5) e
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13.

14.

15.

el :

Which of the following statements are correct ?

The Firdausi order was a branch of the Suhrawardi.

The Shattari order was an orthodox order.

The Qureshi order of Sufism flourished in the Deccan.

Chishti Sufis belonged to three different branches of the Chishti order — Nagauriya, Sabiriya and
Nizamiya.

Saw»

Choose the correct answer :

(1) A,Band C (2) B,CandD (8) A,BandD (4) A,CandD

&3 1808 T 3DEOS” DR HOTXD ?

A DETR $B50 IS’ 2.8 2xifo.

B. A8 5850 2.8 v 5G0.

C. 0SS’ 20BN SBadm 980" $8D0&.

D. D e DA SPS0880 00BN 80T DA 2XTSS — PFE0D, DB SHBAM 2O
50 TOAIT.

ABS DATPETI0 QORI :

(1) A, B 85w C (2) B,CHGA™D  (3) A, B8 D 4) A, CH8»D

Which of the following statements are correct ?

A. Ramananda belonged to Vaishnava Bhakti tradition.

B. Ramananda preached in the language of the common people.
C. Vallabhacharya was the founder of Pushtimarga.

D. Jayadeva’s Gita Govinda was composed in Hindi.

Choose the correct answer :

(1) A and B only (2) A,BandC (3) A,B,CandD (4) A,CandD
180B ae3S° DB T $WIEN DN ?

T3P0 B 258 S5 GaandE0 ToAS a°¢.

B. TS0 aldrSs 1980 27N SEoT.

C. VTSR YRSTP FDOTI.

D. 23008:9¢ "Hieh FD0" D o0& oS’ SD0TH.

OB QATPET0 DOTNE AW :
(1) ADBOWBIP(SD (2) A,BHOANC  (8) A,B,CHBBMD  (4) A, C 80w D

>

Consider the following statements about coinage during Akbar’s reign :

A. Coins were minted in three metals, namely gold, silver and copper.

B. There was free and open minting system and mints were widely distributed.

Which of the above statements is/are correct ?

(1) A only (2) B only (3) Both A and B (4) Neither A nor B
©5)0 e 50" TEEE H0DOHOD &t (0B T HOFOOTHXW

A. BN 20, 08, T°0 @R S50 S’ sFOS S0(E0TIDTOW.

B. 58y SHOO5 22rE0N0mT S0 SnlQ0E SR HOTE. 05T N DT GO HOTON.

DS 85 5DES T 5DIOS DE/AD SBISE/ ?

1) A Sredadd (2) B3¢ (3) ADNOASHBTOKr (4) A0SO B BOGY %)
o0
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16.

17.

18.

Match the following works with their respective writers or compilers :

Work Writer
A. Padshah Nama I. Muhammad Kazim
B. Humayun Nama II. Abul Fazl
C. Alamgir Nama ITII. Humayun
D. Akbar Nama IV. Abdul Hamid Lahori

V. Gulbadan Begum
Choose the correct answer :

(1) A-II; B-III; C-V; D-IV (2) A-IV; B-V; C-I; D-II
(3) A-II; B-V; C-III; D-IV (4) A-IV; B-III; C-I; D-II
1BO& (5OGSNOD 37¢3Q) (PRIITE DI 23SHBTNM :

(fo3a0 (TPROSTCD
A T TN L 0508 g°23e0
B. J00ANS %% II. @O HadO
C. 8000 TN Il SV
D. @35 IV. @20S ST 58

V. o)A 3o

OB QATPET0 DOTNT AW :
(1) A-IL; B-IIL C-V; D-IV (2) A-IV; B-V; C-I; D-II
(3) A-IL; B-V; C-III; D-IV (4) A-IV; B-IIL; C-I; D-II

Which of the following statements about ‘Ashtapradhan’ in Maratha administration is incorrect ?

(1) ‘Ashtapradhan’ had no collective responsibility, each minister was directly responsible t
ruler.

(2) ‘Dabir’ was responsible for intelligence, and household affairs.

(3) ‘Peshwa’ looked after finances and general administration.

(4) ‘Majumdar’ was the accountant.

TTO HOTOT® DTSN ‘@RS 50 HODOHOD & (80O 5 seeS DO A ?

o the

(1) ORI’ OB &3 237565 GOTE S°CN. (D 2,87 O T2 JEP 23°¢35eh KO HOT e,

(2) 'TOD 150 5599, SDOAN HPYTAAASTEEY 23°¢I$CH.

(3) xS 0% DAATTEN, PGS DOTOT® DDA DB 0T°.
(4) 'X2r0rD’ SO S5O HEBVC.

Consider the following statements :

A. Ali Adil Shah appointed the well-known Sanskrit scholar ‘Waman Pandit’ in his court.
B. Gol Gumbaz, built in 1660, was a mausoleum for Ibrahim Adil Shah.

C. Mohammad Adil Shah composed a book called ‘Kitab-i-Nauras’.

D. Ibrahim Adil Shah-II was also called ‘Jagat Guru’.

Which of the above statements are incorrect ?

(1) A and D only (2) A, BandC only

(3) B, C and D only (4) B and C only

B0 55 HDBIO0THSW -

A 0O ©AS 3 DNV DY DOABIED ‘NS HOGEY' D 8 TS0’ AAHNOTY.
B. 1660 ¢S 980095088 F'S Fowes, Reiero &S 2 G3nEy Ddre.

C. 8&5-1-J6 ©F (H0TPQ), 008 9&S X DO .

D. BOChS Q23er0 A aT, ‘8BS NETP S DENIVT.

2 35S DD DO 5°3) ?

(1) A 08050 D S°(ehad (2) A, B8O C S3(edad

(3) B, C 0805 D X(ehadd (4) B 0B C S(ebad

el
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19.

20.

21.

el :

Match the following :

List ] List 11

A. Amatya I.  Finance Minister

B. Wagqianavis II. Officer recording proceedings of the court

C. Sachiv III. In-charge of the Royal Secretariat

D. Sumant IV. Foreign Minister

Choose the correct answer :

(1) A-II; B-I; C-1V; D-III (2) A-I; B-II; C-III; D-IV

(3) A-III; B-II; C-I; D-IV (4) A-1V; B-III; C-II; D-I

Bo& °¢3Q 236538700

erde 1 erdee 11

A, ©Xeds I %0

B. EOSrrR I STS0S 887 5 EXrO& 8578 TR 0H6

C. O III. AT 50N AT 550

D. oS IV. B30 Holed

OB DTG0 DOTNT R :

(1) A-II; B-I; C-IV; D-III (2) A-I; B-II; C-III; D-IV

(3) A-IL B-IL; C-I; D-IV (4) A-IV; B-IIL; C-II; D-I

Arrange the following foreign travellers in chronological order of their visit to Vijayanagara
kingdom :
A. Abdur Razzaq B. Afanasy Nikitin C. Domingo Paes

D. Fernao Nuniz E. Nicolo Conti

Choose the correct answer :

(1) E,B,A,D,C (2) AJE,B,D,C 3) E,A,B,C,D (4) ACEB,D
DBANSHS T255), HOCBIONS &3 (808 TR AEF(BZVO TO(EXT OISO €908 )0

A, 25 8§ B. @33 8RS C. &ENoff o

D. 818 Srges E. Q8 §o¢3

OB N QPGP0 DOTNT R :

(1) E,B,A,D,C (2) AE,B,D,C 3) E,AB,C,D 4 ACEB,D

Which of the following statements about French East India Company is/are correct ?
A. French East India Company’s headquarters were shifted to Pondicherry from Surat.
B. It had a central board of directors which was known as ‘Gentlemen Seventeen’.

C. One of its notable features was constant quarrels and rivalry among its officers which affected its
operations in India.

Choose the correct answer :

(1) A only (2) B and C only

(3) A and C only (4) A,BandC

(208 550 ROBAST 08 H020AOD (B80S (DELSOE IB/DN OB ?

A OE rBd) Q0GOS S0V (DG TO(H0 IS HO0G 0BT Y08 S )0R00.
B. &8 ‘B80S S VISES ©F 2.8 oo S0 e BEED) FroBE.

C. B HBOBAD ©F TS 2.8¢3, RO BT $3H ereen, ITen DR €55)00S
2PSESTFOS 6 SESETIEN TI22)BS) .

DB DTG0 DOTHEFIW
1) A SrSD (2) B HOAW C S
(3) A X0B35W C Sr(ehad (4) A, BX8a%» C

. .
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22,

23.

24.

Arrange the following in chronological order :

A. Cornwallis assumes office as Governor General for the first time
B. The Third Anglo-Mysore War

C. Battle of Kharda between the Nizam and the Marathas

D. Ranjit Singh captures Lahore

E. Vellore Mutiny

Choose the correct answer :
(1) A,B,C,D,E (2) B,A,C,D,E 3 C,AB,D,E 4) C,B,AJE,D

Bod 73R 52O D SOMT @908 )08 :

A, 551500 ILRNSES BT H95)18 BSOS HAD TBHTWD
B. 507¢hsS e80T -y awdo

C. Q20X HBAW NTT°E DS 280 P°T° ANWO

D. &30 O 8083S D0H EDONETE

E.

[N Ove WY Mo VN AN
OB QPGP0 DOTNT D :
1) A,B,C,D,E (2) B,A,C,D,E 3) C,A,B,D,E 4) C,B,AE,D

Which of the following statements are correct ?

A. Raja Rammohan Roy originally wrote ‘Gift to Monotheists’ in Persian language.
B. Raja Rammohan Roy believed that the ancient Hindu texts preached Monotheism.
C. Ishwar Chandra Vidyasagar founded the Widow Remarriage Association.

D. Founders of Paramahansa Mandali believed in Monotheism.

Choose the correct answer :

(1) A and C only (2) CandD only
(3) B, C and D only (4) A, BandD only
1808 T3ROS DBIJ DD ?

A, T2 TCOIFTS T°ON ‘8% SaTOZ0E) 2255006 Q Fesed HOAST eeS’ (0.

B. PO 5708y (H05ren Q3% Barddd SQ0Troh) U7es TPoRrerd 070D I $303D.
C. D0 YO ST DONTR)), B83 £8 O DTEI0 0O TCR.

D. JBX0TP0D 0O $53T0E0eN DBF 58 S0 S0 0.

QB NAPGTEA0 DOTNT RN :

(1) A B C Se(S 2) € 306050 D S

(3) B, C 0005 D S°(¢hadd (4) A, B X850 D S(ebadd

Which of the following statements are correct ?

A. The first public theatre named ‘National Theatre’ was set up in Calcutta in 1872.
B. Neeldarpan (1860) was on the oppression of indigo planters in Bengal.

C. Michael Madhusudan Datta wrote Neeldarpan (1860).

D. Ananda Math (1882) was set up against the background of the Sanyasi rebellion.
Choose the correct answer :

(1) A)Band C (2) A,CandD (3) A,BandD (4) B,CandD
1B0B T3S DBI DD ?
A. 1872 S 5T’ TPDONS 2PB0N ST’ BNEQBNDES (e LT,

B. DSESE)S(1860) OSSR DO DONEOTEHS 96D BeHE H020E0DIE.

C. DTS OITAS 55 D)5 (1860) SO

D. &308558 (1882) D5 edB0023en IS0 $ON0H.

OB DTG0 DOTNE AW :

(1) A, B 8o C (2) A, CHdaA»D (3) A,Bda»D (4) B, C 83D
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25.

26.

217.

28.

@ (10) O]

Arrange the following events in chronological order :

A. Indian National Congress passed ‘Purna Swaraj’ resolution.

B. Nehru Report was submitted at Lucknow Session of the All Party Conference.

C. Gandhi-Irwin Pact.

D. E.V. Ramaswamy Naicker left the Congress.

E. First Round Table Conference.

Choose the correct answer :

(1) D,B,AE, C (2) E,C,D,A,B 3) A, B,DEC (4) D,A,B,C,E

B0 S0NEIDR 5°¢3 5P (EXTDT SO TN TASNXW

A. 2786 20 SO F°Q DT TR TR0,

B. o83 2808 @D HE. DITII0S ST 8’ He08)0dd&08.

C. mO&-A8S 2u0)080.

D. 2. TN 0°0NE0 52000 5 DT,

E. 306¢3 B0& Toand O3 a38s5m.

DB DITPETEA0 DOTNT R :

() D,B,AE,C 2 E,C,D,A,B 3) AB,D,E,C 4) D,AB,C,E

Which of the following reformers was not among the founders of a religious association called
‘Rehnumai Mazadayasan Sabha’ ?

(1) Dadabhai Naoroji (2) Sayyid Ahmed Khan

(3) Furdonji Naoroji (4) S.S. Bengalee

1BOB BI5AS DSOS 5B BIVISTOD SNBEAETIS D2 @R NS HOHEY) FNODS >0

87

1) Torerdd S8 (2)  DANIE OTNE R

3) PP I @) 0. Bord

The Famine Enquiry Commission of 1880 led by Sir Richard Strachey is associated with which
policy shift ?

(1) Increased government responsibility for food relief

(2) Emphasis on free market mechanisms to address famines

(3) Introduction of a universal Public Distribution System

(4) Prioritization of infrastructure development in famine prone areas

DG BIY (D), 96958 55 1880 &S° DT> )EI0NS 'EB06Y DTTBED AR, DENS0E DG IS IS HODOCISN
$OR0S ?

(1) 8558 &0¥050 DACHOS (26 § 2¢5e5 0OTIDAR0E

(2) 85059 DB GFFOD R §°y S8, & D530 8 [@rerdsed

(8) B DB SBNT° DR (D% DEIB0

(4) 35 2O (FoTOS FOF HCVIFATEN DOTFOAONETIR (FTS5eh @d 0

Arrange the following events related to the Jallianwala Bagh massacre in chronological order :
A. British authorities passed the Rowlatt Act.

B. General Dyer ordered troops to open fire on unarmed protesters.

C. Mass protest meeting held at Jallianwala Bagh, Amritsar.

D. Martial law is imposed in Amritsar.

E. Rabindranath Tagore renounces his Knighthood in protest.

Choose the correct answer :

(1) A,C,B,D,E (2) C,A,B,E,D 3) A C,E,BD (4) C,A,D,B,E
2OANST® 2°A SV B0 H0D0EO0DS (0B HOMNEIIDR 5°¢3 57N (EDOM €0 )63 :
A [DEN ©OFHN TOS THEr) 2378 TIO.

B. QUGBS SoSEITI BIES B$aAND $S 1RO 57en )8 STROTI.

C. @980 S Ko 2OONS @ 2h S urars oS D25 DT°)EN.

D. X980 &S 28 tHEren DEOTIDFOW.

E. Q838 8OOHBY, 300 THrd ¢ OB BN (Knighthood) & ¢65230T3°¢.

OB NITPEPI0 DOTNEDIW :

1) A,C,B,D,E (2) C,A,B,E,D (3) A,CE,B,D (4) C,A,D,B,E
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29. Which of the following were objectives of the All India Kisan Sabha formed in 1936 ?

A. To fight for the rights of peasants and agricultural workers

B. To demand better working conditions in factories

C. To advocate for land reforms and redistribution of land

D. To support the Indian National Congress in its struggle for Independence

Choose the correct answer :

(1) A,Band D (2) A,BandC 3) B,CandD (4) A,CandD

1936 & PD0IDAS @D 23S SIS D25 TBEY, IS ST (808 ¢3S O ?

A. Bevew, Behd Srded T8 e §Ho ST

B. S0P RSRS HQ HDEJSHE0

C. 257 HODY BN, Z57NFOD 58 DODES TONTTRY), DeDQOTICHSN

D. 5H0Lh &CI500C aSeh 2D SPO(FTNE DDA §H0

OB NITPEPI0 DOTNEDIW :

(1) A, B8A» D (2) ABNOBAWC (3 B,CH8A»D 4) A, CN83» D
30. Arrange the following events related to the Partition of India in chronological order :

A. Mountbatten Plan announced.

B. Direct Action Day observed by the Muslim League.

C. Radgcliffe Line drawn to demarcate India and Pakistan.

D. Indian Independence Act passed by the British Parliament.

Choose the correct answer :

(1) B,C,D,A (2) A/B,C,D 3) B,AC,D 4) B,D,C,A

2°8ed D25RAB H020HO0NN (8O D0DEIION 5PN E0MT @038 )0dk :

A ST0E &S (DT PE (DELS.

B. S00OF (He558. 585 B0 Fe30t0e.

C. 273338, ;ETSEY S 252333 TG ED DD PTED TANEO.

D. (D ;rO0Ew 23°8ed °550(5 IO SRTEODV0H.

OB QATPET0 DOTNE AW :

(1) B,C,D, A (2) A,B,C,D (3) B,A,C,D (4 B,D,C,A
31. Consider the following statements :

A. At Dhulikatta, a fortified town was excavated.

B. It was situated amidst fertile red soil on the banks of river Godavari.

C. At the centre of the Dhulikatta fort were found a palace complex, residential quarters and

granaries.
D. Most of these structures were built with stone.
Which of the above statements are correct ?

(1) A and B only (2) Aand C only
(3) B and C only (4) A,BandD
B0 5D HDBIOOTVSW :

A, BB I 28 HBA 8 (55 55706 220HE HEOA.
B. @8 78 3& 2,08 M8 B8R0 RD DB T 0858 HOd.
C. SrdEE) 86 SNBSS 28 TP RPN, S8 GIaTRIEN, ESTPOPEN &2 0.
D. €98)¢h % 255aren Ureded T ON.
2 DO DD HOBID ?
(1) A B0 B Sr(ehad (2) A DBAW C Sr(evd
(8) B 0B05» C Sr(ehad (4) A, BX8a D
32. Which among the following modern places was exemplified as ‘Pottalikanagara’ in the Western
Chalukyan inscriptions ?

(1) Patancheru (2) Patighanpur (3) Penjerla (4) Punjagutta
DY) BB TIPS ECIsTBOTIDES ‘FELOE SHB0’ (DNS50 &2 (0B ¢3S DA ?
1) DTST (2) BNOY°D (3) 2030 4)  Hozh&y
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33.

34.

35.

36.

0! g

Which of the following statements is not correct with regard to the organization of the army of the
Velamas of Rachakonda and Devarakonda ?

(1) Selagola — Refers to the army using javelin or spear

(2) Vilukandru — Refers to archers and bowmen

(3) Kaijitagandru — Refers to soldiers who use catapults (pashana yantras)

(4) Ekkati — Refers to soldiers handling heavy weapons like maces

T SE0CS 20BN BRISEFOC FeHT2 DS HONE H022050D) 1808 TP’ DE HOTIE 5260 ?
1) e - &N, B® SN GITTROTD D), PN

(2) DO —  DENSTO(EEV, DV GOTTAOT IO IR0

(3) BESHTOIR — ABED (A ANOEPE) D EITBIAOT DAZS TN

4) %)e3 — 5535en 50eE3 KRS AN TR0 WA DN
Which of the following sites belonged to Mahayana Buddhist establishment ?

(1) Dhulikatta (2) Nelakondapalli

(3) Pashigaon (4) Kondapur

&1 (808 VeSS 5FATS 23°HeNEIE TOAS B0 DA ?

1) SrPde 2) JOFToRIO

(8) Ao 4) Sowyd

Which of the following statements about Vishnukundins are correct ?

A. Vishnukundins’ family deity was Sriparvataswamy.

B. Since they were staunch followers of Vedic religion, they persecuted followers of Buddhism and
Jainism.

C. They established Ghatikas (Vedic Schools) and made significant contribution towards growth of
literacy.

D. Kesari (Lion) was the emblem of Vishnukundins.

Choose the correct answer :

(1) A,Band C (2) B,CandD (3) A,CandD (4) A,BandD
DRZ0BNOZ 00BN &k (8OA TS D DO ?

A. DZ0BO B0 TS0 BDS 565 5.

B. 308 &), PO @080 DB 277 BTN B 00 8 SH0HOZ HOTFXD.

C. &) E3E (FEE BT eN) O FDOD @F T8 3508 KNS DTS B0 ©OQOT .
D. 338 (205°0) DF0ES D) 0.

OB QATPET0 DOTNE AW :

(1) A, B8aw C (2) B,C 8w D (3) A, CHBND (4) A, B8 D

Which of the following statements is/are correct ?

A. Arikesari Il erected a triumph pillar at Kalapriyam.

B. Adityalaya was built at Vemulavada.

Choose the correct answer :

(1) A only (2) B only

(3) BothAand B (4) Neither A nor B
1BOB (DB SIS D/ DI ?

A, SODON0 S B0 @ETI8 D23 V02T AOHTEFCR.
B. 3worceS e seaird) d80w5.

OB DTG0 DOTNT AW :
1) A S (2) B P&
(3) A B8 B Bocky (4) A B B BOKY 5°)
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37.

38.

39.

40.

41.

0! g

In which place during the time of Qutbshahis were tombs of two holy men, one a Hindu and another
a Muslim, both attracting a large number of people, noticed ?

(1) Kautalam (2) Rayachoti (3) Pileru (4) Gutti

06025 Lered SO0, O (rOS0S DY oS (Do 8500T [P DA SsFven oS’ 2.8
P00, ROFTEED B30V DX3¢EN HB0IDRSY ?

(1) TS0 2) TS 3) DB @) %3

Mulla Wajahi wrote the story of Bhagmati and Mohammad Quli Qutb Shah in a poetic form. What
was this poem called ?

(1) Thandkala (2) Basant (3) Qutub Mushteri (4) Kulliyat
2505083 S0BO50 305765028 B0 BoesddS ol TP HDEIFETHOS” SN ey SDOTTE.
&8 DT, DeDOEFED ?
1) @ro&ie 2) 2008 (3) B Lnd 4 %Ocsrs
Identify the correct pairs :
A. Kusumayudha I —  Ranamardanavaya-kulatilaka
B. Kusumaditya —  Muttanegalla
C. Nagatiraja —  Vivekanarayana
D. Kusumayudha V —  Marbalakesari
Choose the correct answer :
(1) Aand B (2) AandC 3) A,BandC (4) A,B,CandD
DO 2365 H80THAW :
A ODIPANPT - FDT WSSOSO
B. 30003000 - wSTre
C. IJBBo°e3 — DI oL
D. 0D0IFANAV - )@ F08
OB DTG0 DOTNT R :
(1) AHB33» B (2) A B C (8) A, B8 C (4) A,B,C8aA» D
Identify the wrong pair :
(1) Mallana —  Rukmangada Charitramu
(2) Madikisingana —  Padmapuranam
(3) Peddana —  Kavyalankara Chintamani
(4) Ananta —  Chandodarpanam
D857 23653 HO0TW :
1) DS — D50 38330
(2) NG8VONS — D&Y T°e20
(3) RS - 5@05°0 DOV
(4) ©d0¢ —  S08EBE)So

Consider the following statements :
A. ‘Kharitas’ were poetic Persian court letters written to the Nizam in reply to the farmans.
B. The ‘Siyahaya’ is the official daily record of the Hyderabad Court written in classical Persian

language.
Which of the above statements is/are correct ?
(1) A only (2) B only (3) Both A and B (4) Neither A nor B

BO& (DRSO HOBOOTHSW :

A 'DETR T HORSOZ BTeN™ Q20 (HENHF DOOHNS RS HEEFHOS” (TAHDES SFS
Sew.

B. ‘DONIOH DI IPSTePED SFI0S (0N FED RS (FOHDAS 0OFOE BSHSS
QAPTTHAW.

D8 AN FDES 5O AE/D 23 ?

(1) A Sr(ehad (2) B SreHed (3) ABASHBTO> (4) A HBAN B BOLy 5%
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42.

43.

44.

0! g

Nizam-ul-Mulk Asafjah was in-charge of viceroyalty consisting of six subas of the Mughal Deccan.
Identify them.

(1) Berar, Aurangabad, Gulburga, Bidar, Bijapur and Hyderabad-Golkonda

(2) Khandesh, Aurangabad, Berar, Bidar, Bijapur and Hyderabad-Golkonda

(3) Raichur, Bidar, Aurangabad, Osmanabad, Berar and Hyderabad-Golkonda

(4) Gulburga, Berar, Bijapur, Ahmadnagar, Khandesh and Hyderabad-Golkonda

0N SEI0S K> 58S (BFOS0STR &35 ereBd Qer0-GS-506) @ODBE® SO0 €5d) T°e3
80

(1) 05, TS0merE, YT, 56, Dessyrd BN BFITerE-Fe570c8

(2) 20BN, TIomers, 230°6, 28, D35 BN PN Ter&-FeS7008

(3) T° OB, DB, TEOMTerS, Grmrerd oD O FTerE-e570e8

(4) BT, 08, D38, 9525585, FrOTR BN BTTerE-FeS7008

Who among the following built the Ujjain Mahankali Temple in Secunderabad ?
(1) Kase Anjaiah (2) Ale Rajaiah
(3) Korapi Durgaiah (4) Suriti Appaiah

1B0& 8 1E0|TrerdNS’ GBA HT05® BIroATR) AB0D0THE ?
(1) 5 ©oBOHS (2) &S oBONS
(3) T8 HPads 4)  Q8e3 DA%

Hyderabad State Congress organised many Border camps as a part of ‘Join India Movement’.
Identify the in-charge leaders of the Border Camps and match them :

Border Camps In-charge
A. Chanda Camp I.  K.JV. Keshavulu
B. Balharsha II. Kodati Narayana Rao
C. Sirivancha ITI. K.V. Narsinga Rao
D. Repala IV. Sriramulu

V. Jamalapuram Keshava Rao
Choose the correct answer :
(1) A-I; B-II; C-III; D-V (2) A-II; B-III; C-IV; D-I
(3) A-III; B-I; C-1V; D-II (4) A-1V; B-V; C-II; D-I
23ES S DO 50’ S DODOAOD TPHT I W SORR @R S8 DTN BP0,
80 95503 DBTCY DT, e3 DG S0 TPONHOD (HBOD) O °E3) 235GV

Yo SV orabSLEY
A. dor 330 I 3339w
B. 2¢r0ar I Sored 570709 T°)
C. 8508 IIL. 3.9. S8d0H T2y
D. 3o IV. 3o°swen

V.  230er)S0 355 0%

QBN DGO DOTNT0IW
(1) AL, B-I; C-II; D-V (2) A-IL; B-IIL C-IV; D-I
(3) AL B-I, C-IV; D-II (4) A-IV; B-V; C-II; D-I
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45. In the second session of the Andhra Mahasabha, who among the following leaders introduced the
resolution demanding the abolition of untouchability and provision of equal rights to the Scheduled

Castes ?
(1) B.S. Venkat Rao (2) Bhagya Reddy Varma
(3) Arige Ramaswamy (4) Raja Bahadur Venkata Ram Reddy

BOS 0(E 05325 DRFHF0S @0)9¥5eh DTGB, LD Hered 88 DTS sPE0y O Soess
BT, (93F 08 DS ?

(1) DIV. J08e T°)) (2)  2riis BG 583

(3) 8T TS5 (4) 023 5NrD I08¢) Tt BG

46. Match the following sessions of Andhra Maha Sabha with the President of the session :

Session President
A. Fourth Andhra Maha Sabha 1. Konda Venkata Ranga Reddy
B. Fifth Andhra Maha Sabha II. Mandumula Narsinga Rao
C. Sixth Andhra Maha Sabha I11. Ravi Narayan Reddy
D. Eighth Andhra Maha Sabha Iv. Suravaram Pratapa Reddy

V. Madapati Hanumantha Rao
Choose the correct answer :

(1) A-1V; B-II; C-I; D-V (2) A-III; B-V; C-IV; D-I
(3) A-I; B-IIT; C-V; D-IV (4) A-V; B-I; C-I; D-III
BO& €30(8 s0TEIZS DT aB°e, a3°¢38 €955 2365 DB T
DarIso @dSgsHen

A TS 08 0508 I. Sor 0% Sorr B

B. @00 80O S03E02S IL. 000 SBJ0K T3

C. @8 e0(& 008 II. 0°) o*orader B

D, DOWES SO 052 IV. 08380 Hed BG

V. S57¢hareS $30s00¢h T°)

OB QATPET0 DOTNT AW :

(1) A-IV; B C-I; D-V (2) AL B-V; C-IV; DI
(3) A-II; B-IIL;, C-V; D-IV (4) A-V; B-I, C-II; D-III

47. Consider the following statements :

A. Nadimpalli Sundaramma started Andhra Sodari Samajam.

B. Bharata Mahila Samajam was started by Yamini Purna Tilakam.
Which of the above statements is/are correct ?

(1) A only (2) B only

(3) Both A and B (4) Neither A nor B

Bod (DFEION HBKe3050d

A 808 RO D32, SB0ID HOBBL (BrB0D0TTED.

B. 2786d Q0are Dadrrerd)) 05T sJP@e3e80 (arS0dowmed.

D& 95 5DES WO IE/DD 2.9 ?

1) A Sr(e5add (2) B3

(3) A B8 B Bocky (4) A B B BOKY 5°)

0! g
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48.

49.

50.

0! g

Identify the literary organisation started by Suravaram Pratapa Reddy in 1941.

(1) Vignana Mandali (2) Vignana Sarvaswam

(3) Vignana Chandrika Parishad (4) Vignana Vardhini Parishad
1941 & DBXB0 (DT B |FPS0D0DD Fered Do HB050& ?

(1) DTS Hosd 2 DS IG5 50

(8) VLS 0O OF HBAS 4 S I8 8IS

Consider the following statements :

A. In the mid 18™ century the Gond tribals led by Ramji Gond revolted against the British in
Adilabad.

B. He ruled the area independently with Nirmal as the capital.

C. They were treated harshly by the British and 1,000 of them along with Ramji Gond were hanged
to a banyan tree near Nirmal. This tree came to be known as ‘Veyyi Urula Marri’.

D. Kumaram Bheem gave the slogan ‘Jal-Jungle-Jameen’.

Which of the above statements are correct ?

(1) Aand B (2) A,BandC (3 B,CandD (4) A,CandD

BOA (DBTRID DOHFoTSW

A. 188 F=0 @derioss Trodffo rohis oS Fo SHardy esderercd [@rososS (D3R %
N5DTZOMT BKH2TEN K.

B. €800 & ([2P0er) QSIS T3 S §50(HOm PO 0.

C. TOIE (D3N wrer EBIOM X530 TOXFOMS e [oNs NOA ABS dNHoS
OTIENE GO, VA 'HOWS GO BT e RO,

D. T30 DD 'BS-B0KS-8S' €980 A0 9 JI°C.

D& 9SS WIS DD 20 ?

(1) A 83w B (2) ABXOBANWC (3) B,CHBAWD (4) A, CH6aA»D

Arrange the following events in chronological order :

The Nizam’s forces in Warangal surrendered to Major General Rudra.

Surrender of Major General E.L. Edroos, the chief of Nizam’s Army.

Resignation of the Ministry of Mir Laik Ali.

Indian army occupied Sholapur, Naldurg and Thuljapur under the leadership of Major General
J.N. Choudhary.

E. Withdrawal of the complaint against India from the United Nations Security Council by the

caw»

Nizam.
Choose the correct answer :
(1) B,C,A,E,D (2) B,C,D,AE (3) D,AC,B,E 4 C,D,B,E,A

S TAR IO MVARNTSINVESIS IRV el NV e VAN WE

A. 33088 & Qa0 1rsen 3028 BIGS K(rEd SOANPFASTON.

B. Q230 558060 0230 BB 3.0, TR STOANSB0.

C. B 05 & HOBIFO TraTSr TANEO.

D. 3028 838 B.AS. THO FOHEH 506 2GS Desen SFerRE, SS D, YD O es|ENOTXY.
E. 250, 2783308 S53B50m 08507235 25898 Qa8 9D )N DTN GO0 0NZT") .

OB NITPEPI0 DOTNEDIW :

(1) B,C,AE,D (2) B,C,D,AE 3) D,AC,B,E 4) C,D,B,E A

[=] %[
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51. Which of the following are the main features of the Government of India Act, 1935 ?
A. Federation and Provincial Autonomy

B. Dyarchy at the Centre

C. Dyarchy in Provinces

D. Distribution of legislative powers between the Centre and Provinces
Choose the correct answer :

(1) A and B only (2) A,B,CandD

(3) A, Band C only (4) A, BandD only
1808 e3¢5 1935 25 eh (925065 IO (DT OF e D ?

A Q3RS 0805 T el Q5000 (HedHS

B. B0(&06S &50¢ e

C. OarocS B550C aFedd

D. 30[&B0 SO Tl A TOTOS T DOV

OB DTG0 DOTNT R :
(1) A SO B S35°(¢had (2) A, B,C X805 D
(3) A, B 8350 C S(¢5a (4) A, B 08050 D S5(¢hadd

52. Consider the following statements in relation to making of the Constitution :

A. India chose Parliamentary system over Presidential system.

B. Assessment of responsibility was more preferred than the stability of Government.
Which of the above statements is/are correct ?

(1) A only (2) B only

(3) Both A and B (4) Neither A nor B

2°8ed T2 s00 QUTRIET8 H0220H0D) (8O 55D (130T :

A 273BTF0 @858 BSOS Eold ;ORI BT TS DOTHEI) .

B. (92065 DEeh 50 0T 237 ST OiNeheber s 9SO DOTHESR0 26008,

D BIJDES F5DIOS” DO/DD 8Dy, ?

(1) A S (2) B3
(3) A NBAW B Boche (4) A N80 B BO&Yy %)

53. Consider the following statements in relation to the composition of the Constituent Assembly :

A. The Constituent Assembly was constituted under the scheme formulated by the Cabinet Mission
Plan.

B. Each province and princely state were to be allotted seats in proportion to their respective
geographical areas.

C. Seats allocated to each British province were to be decided among the three principal
communities — Muslims, Sikhs and General.

Which of the above statements is/are correct ?

(1) A only (2) A and B only

(3) A,Band C (4) A and C only

07235005 023 B0 30 H020HO0N (80 R 520G SN HDA0TW :

A, 55DTE MAS (DT PE BrFOBODS DHEO (DSE0 T°23506 DA DS IBTTED.

B. T%05Q @) Oarew, NDoTwre 98 (0870 eDI80D (8RS HPBS ) Teronos)
BOIN.

C. & (D3R > T Aoy TEronotdsO D ST (DG ST B -0, EVYEN HEASN
QS (DB BIONOHOTHT BEFON0WH0 28R0H.

D B FDES 5T DB/ 2.y, ?

1) A SPS (2) A SHOOW B S{ehed
(3) A, B&AS» C (4) A SO C S

@ (17) O]
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54.

55.

56.

! g

Arrange the following cases related to Basic Structure Doctrine of Indian Constitution in
chronological order :

A. Golaknath Case B. Minerva Mills Case
C. Keshvanand Bharti Case D. Champakam Dorairajan Case
Choose the correct answer :
(1) A,D,C,B (2) D,AB,C 3 C,B,AD 4) D,AC,B
e8¢ Ores0l (QPPE DFP0¢ AT H0D0HOD 180 AJIDAS TN SOESFOHI SO
€908 )08 ¢
A Fo5rd 3 B. 075 O B

C. 37308 278 3o D. odso 8BorES 3

ST NS IN VA N TO RN O I MSTN VN

(1) A,D,C,B (2) D,AB,C 3) C,B,A,D 4) D,ACB
Match the following :

Committee of Constituent Assembly Chairman

A. Advisory Committee on Fundamental Rights 1.  Jawaharlal Nehru

B. Union Constitution Committee II.  Vallabhbhai Patel

C. Steering Committee III. B.R. Ambedkar

D. Drafting Committee IV. Rajendra Prasad

E. House Committee V. B. Pattabhi Sitaramayya
Choose the correct answer :

(1) A-V; B-IV; C-II; D-III; E-I (2) A-II; B-I; C-1V; D-III; E-V

(3) A-1V; B-II; C-V; D-I; E-III (4) A-I; B-V; C-1V; D-III; E-II

BO& A 2365 DB :

oeesorf 028 e €330

A PODE THL DD Eed I 2350, S

B. 3o orersol E0¢3 I 30520 SO

C. X (Steering) Ee3 HI. 2).e35. ©023¢8)6

D. & (Drafting) $a0¢3 IV. O°B0(S D0

E. 370 8e3 V. 8. 978 &0en0o%s

OB N QPGP0 DOTNT R :

(1) A-V; B-IV; C-II; D-IIL; E-I (2) AL BI C-IV; DIIL, E-V

(3) A-IV; B-II; C-V; D-I; E-III (4) A-I; B-V; C-IV; D-II; E-II

Which of the following is/are true about the writ of Mandamus ?

A. Tt is applicable only in the case of violation of fundamental rights.

B. It is applicable against the government itself and also against inferior courts and other judicial

bodies.

C. Itis also to direct a government official not to enforce a law which is unconstitutional.

D. Itis also to enforce the performance of a statutory duty in case an officer refuses to do so.

Choose the correct answer :

(1) A only (2) A B,CandD

(3) B,Cand D (4) A,BandC

1B0B IS Sr080R BES E0 H0DOEODS DB ©0F°eN DO/ ?

A, [PODE 7803080 DHT0 EQIYE S (ehadd A SONOA.

B. @8 (H20@508 H5BEOT SN0 SHBAN AMHS §Een HOAM [BS 500 HDORVOR SsBBEomT
5z SO0TIDENEROA.

C. & 772508 QR tIEFD) €9a0eN BANIP JrE (D250eh § OO S8TINOR.

D. @8 & HEDS A A 8058 ATEB0NS & OO &8 DA JE5ar0Ter ABINOA.

OB DXTES0 JOTHT R0
(1) A Sr(ehad (2) A,B,C X805 D
(3) B, C &80% D (4) A, B8S» C
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57. Which of the following provisions of the Constitution of India envisages ‘Settlement of International
Disputes by Arbitration’ ?

(1) Article 49 (C) (2) Article51 (D)  (3) Article 52 (F) (4) Article 54 (B)

BoB TS 278 TersofoS & OIS0 ‘WOST'HOD DT DOXFTIE 0598 HABJ
SN0 ?

(1) 38349 (C) 2 88551 (D) 3) 08 52 (F) (4) &8%S 54 (B)

58. Which of the following statements is/are correct with respect to Fundamental Rights in the
Constitution of India ?
A. They are absolute in nature.
B. They are justiciable in nature.
C. They are meant to promote Political Democracy.
D. They have been taken from the Irish Constitution.
Choose the correct answer :
(1) A, Cand D only (2) B only
(3) B and C only (4) A and C only
1BOB T3S 2GS T72350H0 (FHONE TELE) HOROEOD DE/AD DB 0T ?
A @ J°5rE0T QB DEDI.
B. @ J52rd80m S°5000RR0S.
C. 0 T°B80% (DeFar T, (56 )or0td 8 &R I0TIDBI.
D. ¢3Q 2085 T°e5060 HOG D 56030 38R0,

OB QATPET0 DOTNT I :
(1) A, C OAS D Sr(ehad (2) B IrD
(3) B X0805» C S(ehadd 4) A SO C S

59. Consider the following statements :
A. Article 17 of the Constitution is related to the abolition of untouchability.
B. In case of violation of Article 17 by a private individual, action can be initiated against him/her.
Which of the above statements is/are correct ?

(1) A only (2) B only
(3) Both A and B (4) Neither A nor B
B0 55 HDBIO0TSEW :

A. T2RS0K0S R 17 & (HEE8 @0ETRSSE0 BCHE H020H0DIA.

B. & 558 000 0250l 108589 17 &0 & Q00w €8 558 3 55 S0E N0 23500S0E.
2 35O DO/ HOTIE/ ?

(1) A Sr(edad (2) B3

(3) A B0 B Bocskw (4) A 83 B Boh® 5%

60. Arrange the following fundamental rights in order of correct sequence as they appear in the
Constitution of India :
A. Right to Constitutional Remedies B. Right to Freedom of Religion
C. Right to Freedom D. Right to Equality
E. Cultural and Educational Rights
Choose the correct answer :

(1) D,C,E,B, A (20 D,C,B,E,A 3 AE,C,D,B 4) D,E,B,C,A
238 T2 30806 FPOCNISTIDES (B0 (FPPWE $3°E0%e8) DB SH (800 9:53)0B
A. 072508 HOST T80 B. & sy 380

C. DSy T80y D. D35S 80y

E. 00938, 000N D@y S°850).en

OB QPGP0 DOTNT R :

(1) D,C,E,B,A (2) D,C,B,E, A 3) AE,C,D,B 40 D,E,B,C A

0! g
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61.

62.

63.

Consider the following statements :
A. The Parliament possesses the power of extra-territorial legislation.

B. A State can have the power to affect persons or property outside its borders and this power can
be claimed by State Legislatures.

Which of the above statements is/are correct ?

(1) A only (2) Bonly
(3) Both A and B (4) Neither A nor B
1BO& 55 HDBIO0THSW :

A |PBBS0SE TP SIS TR @9OTE0 TOR0ENE HO&.

B. 28 T Q0 ¢ S8 DO S5He) B & (D270 TR O30 EOR Gotnod. &
ATTR), TR T D25 EDTITAOTHE T ).

2 TIDEOES” DE/AD HETIE/D ?

1) A SreD (2) BT

(3) A NS B Bodkw (4) A D8 B Bo® 5%

Consider the following statements :

A. The Union of India cannot be said to be the result of any compact or agreement between States,
which can be broken.

B. Neither before nor under the Act of 1935, were the Provinces of India in any sense sovereign
states, all powers were unitary, and the Government of India Act, 1935 has laid the basis for
Indian Federalism.

Which of the above statements is/are correct ?

(1) Aonly (2) Bonly
(3) Both Aand B (4) Neither A nor B
1BO& 55 HDBIO0THSW :

A, 2785 OOTAONS DN T°aFed NS VY e0ASE0 M B> 305 O7{aren ANFAANS DO DG
580 50€3D BHROTE DBHROA.

B. 2336 020655 <90 1935 &S R, T8 SN0 TR & SEOMPS T°ale) G 23 s edsoren $OASS,
OFTO) DE ToBES SFH0S G 0w, 23 (HENSS 0 1935 eS8 DTS DTS
BP0 YIH0 |PSarED $O 00k,

20 55O DE/AD HOTIE/ ?

1) A ISP (2) BT

(3) A N85 B Bockr (4) A D805 B BOY 5°0)

Consider the following statements :
A. Both Parliament and State Legislatures have the power to make any law with respect to any
matter not enumerated in the Concurrent List or State List.

B. State Legislature has the power to make law on any subject matter mentioned in the Concurrent
List.
Which of the above statements is/are correct ?

(1) A only (2) Bonly
(3) Both A and B (4) Neither A nor B
1BO& 55 DBIO0THSW :

A &G D S TR DTS TEIDE O DACVOD ONT Y0 SNBSS TR
FROVDBEN THEFEN TOHITD.

B. O3 7008 €5302B DTS ) @050 2 @00 D0 TR o780y $O8 Hod.

20 35O DE/AD HOTOIE/ ?

1) A SreD (2) BT

(3) A B8 B Bocky (4) A BN B Bor 5°0)

EEE
:@: (20) R
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64.

65.

66.

67.
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Arrange the following developments related to Centre-State relations in chronological order :

A. Anandpur Sahib Resolution B. Rajamannar Committee

C. West Bengal Memorandum D. Justice Punchhi Commission
Choose the correct answer :

(1) A,B,C,D (2) B,C,D,A 3) C,D,A,B 4 B,A,CD
ZB0(B-T°(Q DOVOTTOE H02)0HO0DD DOETRTO D a3°¢3 SOEXTROI GO DT YEN OO :
A 830855 F2rS ST60 B. o) $0e3

C. DB BorS JIFC°0C0 D. 290 J°0D EDAS

OB AITPEFI0 DOTNEDIW :

(1) A,B,C,D 2 B,C,DA 3 C,D,AB 4 B,ACD

Which of the following commission/committee recommended the establishment of an Inter-State
Council under Article 263 of the Constitution :

(1) Punchhi Commission (2) Sarkaria Commission

(3) Rajamannar Committee (4) First Administrative Reforms Commission

B0 TS & EMAS/ENES, arSesh T°e350t 263 &OES 50 0SS T 5 HOO JT°HEN TONEEL
DS TISA :

1) o) EWAS (2) Q07805 EMAS
(3) T°20m°)0 Ea0¢e3 4) RS oD HodE B SN0

Consider the following statements in relation to the impeachment of the President of India :
A. The President of India can be impeached on the ground of violation of the Constitution.
B. The meaning of the violation of the Constitution is explained in Article 61(2).

C. The impeachment of the President is a quasi-judicial procedure.

Which of the above statements are correct ?

(1) A and B only (2) Aand C only

(3) B and C only (4) A,BandC

2rSed T°( e 92300 D000 (80 55D (P08 !

A, TR0 Q0N (o3OS 23r8eh T QD3R €98)F00TI3N ).

B. (0888 61(2) & 072500 G080 980 DHIBOTIRAIE.

C. T°ded @8F0N NI QTesad (DI8O%.

DN B SRS 5O DD 2.y, ?

(1) A SHOAW B S°(ehad (2) A SDHOAW C S

(3) B oHBAW C S°(ehad (4) A, BX83S» C

Which of the following are discretionary powers given to the Governor of a State in the
Constitution ?

A. Reservation of a bill for consideration of the President.

B. Recommendation for imposition of President’s Rule in a State.

C. Appointing Chief Secretary of the State.

D. Seeking information from the Chief Minister regarding administrative and legislative matters.
Choose the correct answer :

(1) A and C only (2) B and C only

(3) A, C and D only (4) A, BandD only

1BOB AN DBS 3¢3S° 07235050 (H5°B0 T $5515 DI EFOTT N DD ?

A T (RN HBFS FH0 DN 82380 5 TONST).

B. TR0 T A0 aFeSE0 DB TANSD).

C. TR0 (D7 52856587 (Chief Secretary) Q QOHDOTINTD.

D. PO 8O B0 D020 DAATS 30 30 FNO0(E DO DIFTS0 B2)0N Trddtd)).
ISISENIPSINV A LN TORNTSINMSIN VNV

(1) A X0B35W C Sr(ehad (2) B O C S

(3) A, C 83w D Sr(ebad (4) A, B 0805 D S(¢hd
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68.

69.

70.
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Match the following :

Article Explanation

A. Article 74 I.  Appointment of Prime Minister

B. Article 75 II. Council of Ministers to aid and advise President
C. Article 61 ITI. Power of President to grant pardon

D. Article 72 IV. Procedure for impeachment of President

Choose the correct answer :
(1) A-I; B-II; C-III; D-IV (2) A-II; B-I; C-1V; D-III
(3) A-III; B-II; C-IV; D-I (4) A-1V; B-III; C-II; D-I
Bo& A 2385080 :

05 DISED

A 8855 74 L O Do dasrahgo

B. 835175 II.  HO@BDOO T°(QNBE HOHFEN DB rcdaden
C. «83de61 L. O°laded §00DE odsso

D. 835172 IV. O°aded @000 D3

QOB DTGP0 DOTNEW :

(1) A-I; B-II; C-III; D-IV (2) A-II; B-I; C-1V; D-III

(3) A-IIL B-IL, C-IV; D-I (4) A-IV; B-IIL C-II; D-I

Which of the following statements are correct ?

A. A State Legislature cannot initiate a bill for amendment of the Constitution.

B. Joint session of Parliament can be held to solve a deadlock between the two Houses of the
Parliament in case of Constitutional Amendment bill.

C. The previous sanction of the President is not required to introduce a bill for amendment of the
Constitution.

D. It is obligatory for the President to give assent to a Constitutional Amendment bill when it is
presented by the Parliament.

Choose the correct answer :

(1) A, B and C only (2) A, C and D only

(3) B, C and D only (4) Cand D only

1BO& (HBFRIOS” HBIJ DD ?

A, 07232508 D388 DN (NSBTO0T 9HSE0 T 5 T2 D280 SE.

B. 0723508 D588 DENZ D020HO0D) FTID0LD &aS0H 025 S 1NDBROBS AEIAB CID0LD
QOANE DIFIF0 T°50° TP DBNYLB0ISN).

C. T°2500 D3B8 DN D38 DEETAE T3 L3N0 9308063 €93030 S.

D. O8I0 & ST° DODS T°2350H DdBEd DENF T3 €50 &SZNE0 BEND DO GOLNOA.

ISTOEN IS IN VA LN TORN TSI VSN VINW

(1) A, B H8A» C S°(ehad (2) A, C 08050 D S5°(ehad

(3) B, C 000 D S(¢hadd (4)  C X85 D S(bad

Consider the following statements :

A. The executive powers of the President shall be exercised in accordance with the advice of the
Council of Ministers.

B. The effect of the Constitution (44" Amendment) Act, 1978 is that except in certain marginal
cases referred to by the Supreme Court, a refusal to act as per the advice of the Council of
Ministers can lead to impeachment of the President.

Which of the above statements is/are correct ?

(1) A only (2) Bonly (3) BothAandB (4) Neither A nor B

1BO& 55 DBIO0THSW :

A. 7208 SIS SSTET QST 003600 DT 0BED S92 €aIren TONHEN M.

B. 1978 ¢5° 2380 445 Tra50l 058 (D5°B0, N0 T HrDOoDS DO T0EN D), sH0(E3s00)

QYT 930 DB TNEE, T RADB @EFOIS TOHETIE NeNHO&.
2 TSDEOS” DE/DD DI/ ?
1) A SrSD (2) BT (3) ADBASHBTOG> (4) A N8O B BOLy 5%
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72.
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Arrange the Constitutional Amendments related to the following subjects in chronological order :
A. Reducing age of voting from 21 years to 18 years.

B. Women Reservation in Lok Sabha and State Legislative Assemblies

C. Ninth Schedule

D. EWS Reservation

E. Right to form Cooperative Societies

Choose the correct answer :

(1) D,B,C,AE 2 C,AJE,D,B

3)AC,D,E,B 4) C,E,A,D,B

&1 (808 B8OV DACHSNEO D TS T80 DSBEIOD T3 57D ENOS” DT)e0 TOHOG
A, 2,80 SFPHY HONNY 21 oG 18 H05ed TR0 S0

B. 5825, 320802506 sveree 8238 e

C. 95 nckrsen

D. EWS 823538

E. 33558 Q0T QT°)E0 °80)

OB DTG0 DOTNT R :

(1) D,B,C,AE 2) C,AED,B
3) A,CD,E,B 4) C,E,AD,B

Match the following Constitutional Amendment Acts with their respective objectives :
Amendment Act Objective

A. The 15t Amendment Act, 1951 I Settled certain boundary disputes between India
and Pakistan

B. The 9" Amendment Act, 1960 II.  Acquiring and transferring certain territories
between India and Bangladesh

C. The 52" Amendment Act, 1985  III. Goods and Services Tax

D. The 1015" Amendment Act, 2016 IV. Securing the constitutional validity of Zamindari
abolition laws

V. Political defections

Choose the correct answer :

(1) A-III; B-IV; C-I; D-II (2) A-II; B-III; C-IV; D-I
(3) A-1V; B-I; C-V; D-III (4) A-I; B-IV; C-II; D-III
B0 &)Y, 723508 DB THETOR a37¢3 OFES 239IBTNM
eS8 L3E0 SXfve

A BOO DSBE 90,1951 L. 2356, FEISE S¢55 DO HHD5O HBXYE0
B. 9% D388 w380, 1960 IL 2386, 20TE8O 0 )Y, IDBFO P00, 2558
C. 528 O3B w980, 1985 IL S, 5 D).

D. 1015 038 T5&O, 2016 IV. 2008 3o SCDEL 072508 Do

V. oa8ad doranoden

OB DTG0 DOTNE AW :

(1) A-III; B-1V; C-I; D-II (2) A-II; B-III; C-1V; D-1

(3) A-IV; B-I; C-V; D-III (4) AL, B-IV; C-II; D-III

. .
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74.

75.

76.
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Arrange the following steps in the procedure for amendment of the Constitution of India for

provisions that affect the Federal Structure in sequential order of the steps :

A. Initiation of the bill in either House of the Parliament.

B. Assent by State Legislatures of not less than half of the States.

C. Assent by President.

D. Passage by each House by 50 percent of total membership and majority of not less than 2/3rd

members present and voting.

Choose the correct answer :

1) AB,C,D 2 A,D,B,C 3 ACB,D 4) AB,D,C

zL_isocﬁ BODS D3PS DB D 192750 r T°50H D38 QONEIFS SBD (EXNIPBS” o )en
o006k :

A FEDOE S D 925 900 DENVD (3 DESTR..

B. 300 60 T°laf® 370 H25en ¢5s SRTEr) SOIE.

C. Tladed &8Je0.

D. 2505 D25 DSTFITeeS 2/3 S0 HEHsen FFBB 8,300 S FS, IJnSo D HowseS 50 TS50
R8s eIBN0 Ford.

OB DTG0 DOTNT R :

1) A B,C,D 2 A,D,B,C 3) ACB,D 4) A,BD,C

Which one of the following amendment to the Indian Constitution had added explanations to Article
3 of the Constitution ?

(1) 215 Amendment (2) 18 Amendment (3) 3274 Amendment (4) 39 Amendment

1BOB TS Q TPa50M DS 27EeS T7a3 0N (DESE 3 S DG B ?

(1) 215 d5Bea (2) 188 d38¢ed (8) 828 D38 4) 39 IS8¢€d

Identify from the following items which require ratification by State Legislatures for Constitutional
Amendment to bring changes in it :

A. Article 55 B. Chapter IV of Part V

C. Chapter I of Part XI D. Any List in the Seventh Schedule
Choose the correct answer :

(1) B, C and D only (2) A B,CandD

(3) A, B and C only (4) CandD only

B0 D&)N) AACSTOS SPSIOT TR T°250H DSISLOZ T QTSN SRTIEaN @SOS T°¢3Q
[aMSTOINVINWE

A, 1DES5 55 B.  2rsn VR IV & 9550550

C. 20550 XI °Q Scde3 (I &) @5 5055m D. %S 0TS S Q 2rde o
QB NAPGTEA0 DOTHT W :

(1) B, C 8w D Sr(ehadd (2) A, B,C X80 D

(3) A, B 0O C S5 (4)  C X85 D S(bad

The Constitution (Seventy-third Amendment) Act, 1992 is not applicable to which of the following
States of India ?

A. Nagaland B. Arunachal Pradesh
C. Meghalaya D. Sikkim

Choose the correct answer :

(1) A and C only (2) A, Band C only

(3) B and D only 4) A,B,CandD

&3 (808 25 50BS 2rEST350° & TaleB) T°a0N0 (B23)-e05°¢hsd De38ea) w90, 1992 58015¢% ?
A Drerod B. o&erdS (037

C. DDATFOOH D. 380

OB D3rgrdo HBochHdw :

(1) ADB0W C Sr(ehad (2) A, BB C Sr(edad
(3) B 0805 D S°(ebadd (4) A,B,C8a D
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78.

79.
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Which of the following functions are provided to the Panchayats under the Eleventh Schedule of the
Indian Constitution ?

A. Small scale industries, including food processing industries

B. Libraries

C. Cattle pounds; prevention of cruelty to animals

D. Technical Training and Vocational Education

E. Animal husbandry, dairying and poultry

Choose the correct answer :

(1) A, B and C only (2) C,D andE only

(3) A, B, D and E only 4 A,B,C,Dand E

2335 T2S0H0 ST DATOCHH BTSS (DTG0 HOTTONSBOE FEFCNOTIDES DCHEN D ?
DY BB DB|Fden, €858 SIS HBFden

[HSoGreA8Ten

DDY® TEFeN; 2306509 D& (55r8ed § Darded

0TS .69 DOAW S DS

DDA, TAIHOEX0 08w §¢y DoDEO

@6:6 ISV ALNTORNISIRVISINVUN R

(1) A, B H805» C S5°(ehadd (2) C,D HBAW E S35°(ehadd

(3) A, B, D 0805 E Sr(ehad (4) A,B,C,D 8350 E

mcow>

Consider the following statements with regard to dissolution of Municipalities :

A. Municipality must be given a reasonable opportunity of being heard before its dissolution.

B. No amendment of any law which is in force shall cause dissolution of a Municipality before the
expiry of the five year term.

Which of the above statements is/are correct ?

(1) A only (2) B only (3) Both A and B (4) Neither Anor B

1BO& DB IS S0V OES BCDF D020B0DD DA HDEHEBOTVN :

A 30O S T 00, 8 SNJIDTOES FSen DIETAE HAS0S HHAT) B LHO
)OLNOR.

B. @500 &) o) tHEPE D33 90M® ¢ D0HSIT™ DD SO0 SNARESY) AV B
ZOHK.

20 5O DA/ HOTDSD ?

(1) A7 (2) B3 (3) ABASHBTOr (4) A HBAN B BO&y 5%

The functions of a Municipal Corporation as laid down in the 12th Schedule of the Constitution
include :

A. Slum improvement and upgradation

B. Roads and bridges

C. Urban poverty alleviation

D. Prevention of cruelty to animals

Which of the above are correct ?

(1) A,B,Cand D (2) A, Band C only

(3) A, Band D only (4) A, CandD only
72000 1285 sSSP0 DED (HFB0 SHAVDS SEIBAS Dcoew :
A, 06857 B DY), a3°¢3 Feow DO0TIBO

B. 8¢ 08050 50850

C. D DB A& S

D. 20809® I (8rde ) dTOOHG0

2 WO DD DOBID ?
(1) A, B,C8AS» D (2) A, BHBAW C Sr(edad
(3) A, B 805w D X(ehadd (4) A, C08a5%0 D S5°(ehadd

. .
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81.

82.

83.
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In order to democratize the District Planning Committee (DPC), how many members should be
elected from Panchayats at the District level and Municipalities ?

(1) 1/3 members (2) 1/2 members (3) 3/4 members (4) 4/5 members

B DD EME3 (DPC) Q 10255605900 TODTAE DOeh sH0E DN BT FPoNS HOTTOHB
0B, SNJDTOED H0G ALE TONSOV HOENOE ?

(1) 1/3 S0e% d2Dhgen  (2) 1/2 S0edd d2Dgen  (3)  3/4 Sod dggen  (4)  4/5 Hoedd dgdgen

Consider the following with regard to 74" Constitutional Amendment :

A. Ward Committees can be established in Municipalities with a population of 3 lakhs or more.

B. State Legislatures decide the composition of Ward Committees.

C. Metropolitan area shall consist of population 10 lakh or more.

D. Seats in Municipalities can also be filled by nomination.

Which of the above statements are correct ?

(1) Aand C (2) B,CandD (3) A,BandC 4) A,B,CandD

7435 T30 03G£aH0 S020H0D 180 ©03°>D DONEF0Y)IW :

A, 3056, ©0$ES) 0% 3% DA S0AITOE3E 8 Ee3erad DT=IEN TADSTR .

B. o0 $0¢3 555030 TR A0S de5en Qoward.

C. DI FOOS (050 10 ©F e, OSHET™) D8V Barer EOANOENOE.

D. S0Q)reedersS Qasrng HOS o500 S T 358 oSt ).

D IO DR DO ?

(1) A8 C (2) B, C8c» D (3) A, B8aw»C (4) A, B,C08a» D

Consider the following statements :

A. B.P. Jeevan Reddy Committee, suggested ‘None of the above’ (NOTA) option in EVMs.

B. The Supreme Court of India pronounced a judgement on the NOTA option in EVMs and ballot
papers.

C. The Supreme Court of India passed the judgement based on a Public Interest Litigation (PIL) on
the right to negative vote.

Which of the above statements are correct ?

(1) A and B only (2) A,BandC (3) A and C only (4) B and C only

%2 (808 DO (B30T :

A DD BIS BG Ee3 NN (EVM) O 'S8 ¢H & @25 (None of the above) (SEF) DODED
ISVCATOTATN Y

B. @0DSEN, 2750¢5 DIFOS SER D0DET NDOTED 2.8 50 FeSE0D0E.

C. 28 H8E R0(BR OSBHAS (PIL) eGS0 (DBEFE 4,0 5780y 2 2756 (DO S3%)ADYod.

20 55O DR HETDSD ?

(1) A0 B AF(edad  (2) A, B HBAW C (3) ANBAW C IS (4) B HOAW C S

From the time elections are announced by the Election Commission, Ministers and other

authorities :

A. Shall not announce any financial grants in any form or promises thereof.

B. Shall not lay foundation stones of projects or schemes of any kind.

C. Shall not make any promise of construction of roads.

D. Shall be permitted to make ad-hoc appointments in Government on non-permanent basis.

Which of the above statements are correct ?

(1) A, B and C only (2) A B,CandD

(3) A, B and D only (4) B, Cand D only

D8 D00 T AL EEN (DEE30DIN)ES D0G, 00(ehren, [HS oS BN

A QEND0E3 DBIE POLY, S 1020 FTRR"ED (DEE30HTCH.

B. (230 BT Qen50e3 HH5EL (ooaaoc‘iso{bé B> HOTEN FOHTED.

C. 8 QU5 D000 DENS0ES STRR"ED BONTN.

D. L@eﬁoésoé‘ ), OF |FBTOES ©&-I8 DOTTED TOHETIE &S L.

2 TIDEOS” DR HOBXD ?
(1) A, B SO C S (2) A,B,C8a D
(3) A, B 0805 D Sr(edad (4) B, C 0805w D S
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Arrange the following committees on electoral reforms in India in chronological order :

A. Dinesh Goswami Committee B. Vohra Committee

C. Tarkunde Committee D. Indrajit Gupta Committee

Choose the correct answer :

(1) B,C,A,D (2) C,A,B,D 3) D,B,C A 4) A/D,C,B
2r3STF0S” ALES DO BDOE D0DOB0D) &8 (80 E¢3 SPETDEDOMT s I3 :
A OTJAFI 5 Ee3 B. S 80¢3

C. &80T 8e3 D. 0(&8S Har Ees

OB DTG0 DOTNT R :

(1) B,C,A,D (2) C,A,B,D (3 D,B,C,A (4) AD,C,B

Consider the following in relation to the Electronic Voting Machines (EVMs) in India :

A. EVM was first conceived in 1977.

B. Its prototype was developed by the Centre for Materials for Electronics Technology (C-MET).
C. In 1982, EVMs were used on a pilot basis to conduct elections.

D. In the 2004 Lok Sabha elections, the EVMs were used in all 543 constituencies.

Which of the above statements are correct ?

(1) A, B and C only (2) A, BandD only

(3) A, Cand D only (4) B, CandD only

23533065 A TE 8,300 aHoEredd (EVM) H020000D) &: 80 37¢3Q 1ar0tidesm :

A 2DOHSHEVM) I0SESOT 1977 &' EreroSoIDEIE.

B. 045 HB DeE38ANSY HB DO|TAE) B57) 328 (C-MET) 575 AR Sermrdd @998 T3¢0,
C. 1982 S DBE BB EVM 00 Q)50 A 55r0t5cwls e dI8rAom.

D. 2004 %525 D)5’ InB0 543 ABraE STOS EVM e DITZrHOTTED.

2 DO DD DO ?
(1) A, B 8050 C &w(ehadd (2) A, B sSH8050 D Sr(¢hsd
(3) A, C O D S(ehadd (4) B, C 08350 D S(ebadd

Consider the following statements with respect to Election Commission of India :

A. The Election Commission of India after consent from the President, is empowered to determine
the manner in which the Lok Sabha seats are allotted to each State.

B. The Election Commission of India allots symbols to parties.

Which of the above statements is/are correct ?

(1) A only (2) B only

(3) Both A and B (4) Neither A nor B

203565 D)EE D00 D0DOQOD & 8OE T°§WEI (30T :

A, 278 ALED D00 T RNDSB DB STeseh (D T T8 S5 085 Frren TErowos AT
QBoN0T QB0 DA &I A.

B. 005 D50 erde D)5 HoN0 BEranNod.

2 DO DE/AD HEIE/D ?

(1) A S (2) B IS

(3) A NBA3W B 3ok (4) A N80 B BO&Y %)

District Judges are appointed by :

(1) The Governor under Article 226 (2) The President under Article 228

(3) The Chief Justice of the High Court (4) The Governor under Article 233

2 2380 DB T AAHDONIBTD ;

(1) (DESe 226 (DGO 95815 QOHCH (2)  (DEBe 228 (D°S0 T DD O CH
(3) 2EE (DG°S B50505°8 DO (4)  (D8Se 233 (DTG0 K385)0 QLN CH
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Which of the following statements are correct regarding writs issued by the Supreme Court and
High Courts in India ?

A. The writ of Habeas Corpus can be issued against public authorities only.

B. The writ of Mandamus cannot be issued against a private individual or body

C. The writ of Prohibition can be issued only against judicial and quasi-judicial authorities
D. The writ of Certiorari is available against legislative bodies and private individuals.
Choose the correct answer :

(1) A and B only (2) A and D only

(3) B and C only (4) Cand D only

2r3HTBF0S” D(DOT, 3rEBen AT BE OB H0220H0D & 0O WS DD DB ?

A DOV 528 BE TR0 (020§ 9OTBET Srlehad 2370 TADDRS0.

B. S5P0C00 BES [DON3EN 55300 BE® SONOR S5e3BE0MT 2328T300HE.

C. (FrDAS 8¢ 3500 ARG, 5°52-2°BAONS OB S eh 2rETAHCA0E.
D. 30 S0Dew, (0NN SEOE HsBBE0T DOTIFEE 8¢S e90c0erens’ &otnod.

OB QATPET0 DOTNT AW :

(1) A X805 B &(ehad (2) A SHOAN D Sre(ehad

(3) B 0805w C Sr(ehadd (4) CHOAN D Sr(ehad

Which of the following rights are read in Article 21 by Supreme Court in its various judgements ?
A. Right to good health B. Right to go abroad

C. Right to reputation D. Right to doctor’s assistance
Choose the correct answer :

(1) A,B,Cand D (2) B, Cand D only

(3) B and C only (4) A and B only

O[DOTED % DA BSOS (HEGeaW 21 &S° 27O DIBEBODD TELEN D ?
A 000 esBHg 78y B. JTFTOH IFy TE

C. 88580 D. 3 O3FAD 080y

OB N QPGP0 DOTNT R :

(1) A, B, CH8aAs» D (2) B, C 08A%0 D &35°(ehadd

(3) B sHBAW C S(ehad (4) A X835 B S3(¢had

Which of the following statements is correct about the Judicial Review in the context of the Indian
Constitution ?

(1) The scope of Judicial Review in India is narrower than that of the USA.
(2) The power of judicial review lies with Supreme Court only.
(3) The word ‘Judicial Review’ is mentioned in Article 134 of the Constitution of India.

(4) The Constitution defines the term Judicial Review as the power of the Supreme Court to
examine the actions of the government.

28¢h TeS0N0ES” 50D DB H020H0D 808 5SS A HBSE ?
(1) RO E0T erEHTF0S T°50D OWE HOE HBASO.

(2) 50D DWE. ©ATE0 T3>0 MNO FBST Eercdy.

(3) 2rGe Tvas0f0eS R (HESED 134 S 5D OWE. HBOD THIDA0E.

(4) T°20f0 S0 DDE ©OF D) (DENSS BSOS  HOROONETIAE Mo T edsEomr
QB SDOVOE.

EEE
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Consider the following objectives of the National Mission for Justice Delivery and Legal Reforms,

2011 :

A. To study and recommend increasing the strength of Judges in Supreme Court and certain High
Courts

B. Increasing access and reducing delays and arrears in the system
C. Enhancing accountability through structural change and by setting performance standards and

capacities
Which of the above are correct ?
(1) A, Band C (2) A and B only
(3) A and C only (4) B and C only

TASS WAS HB 23 BOXS @0& OIS 8752, 2011 GBFOH H00H0D 808 F¢3 K20ty :

A, ODOFD, ) 3TTWOS” T°5000E DO DOWEAE e¢500&80, DTG

B. °50% 553906 TE0630 20TICH0, @350 BN eh T Howsdd $H0TIch0

C. 3838 QTETO ST TPI0° BI2NTOHTR), DOFOR0D), NG LT oS (DSFETOR BH
DB 0

2 FDIOS DD DO ?
(1) A, BH&3Sw C (2) A SO B S
(3) A 0B35W C Sr(ehad (4) B OO C S

Which of the following statements are correct regarding these commissions ?

A. The National Commission for Scheduled Castes consists of a Chairman, a Vice Chairman and 3
members.

B. The National Commission for Scheduled Tribes was established by amending Article 338 of the
Indian Constitution.

C. The National Commission for Backward Classes consists of one Chairman, three Vice Chairmen
and 5 members.

Choose the correct answer :

(1) A, Band C (2) A and B only

(3) A and C only (4) B and C only

3 808 EANE HoROEHOD (80 55 OB D ?

A, RGBTS0 0T 2P0 ENAS 28 @SEIC 208 GRSEICR SN D205 O HoLnod.

B. 273eh T°e 500 338 &5 (DEBED DB TSN BE) 257305 ENAS ) JT°Yen TR .

C. BDEDAS SSHHO 2D EVAS 28 eSsHCH SVHB SIS DCOHS JeHsOS §rd
DOLNOA.

OB DATPET0 DOTNE R :
(1) A, B8as» C (2) A BAW B Sr(ebad
(8) A DB0W C Sr(ehad (4) B HOAW C S

The appointment of the Special Officer for Linguistic Minorities in India is done by :
(1) Appointments Committee of the Cabinet (ACC)

(2) President of India

(3) Prime Minister of India

(4) Chairperson of National Commission for Minorities

2PBHTFOS’ 27arHNS ©9e)N0T 8 HT FBZ (HB5E @ATE NS OIS :

(1) 5°5DITE AaAsrsee e3 (ACC)

(2) 28 T Qe

(3) 2786 (DS O(ed

(4) ©©)N0P5E ST 2D EMAS TONS)S
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94. Consider the following statements in relation to the National Human Rights Commission :
A. It was established in 1995.

B. It was established under the statute of the Protection of Human Rights Act (PHRA).
C. It was established in conformity with the Paris Principles, 1991.

Which of the above statements are correct ?

(1) A, Band C (2) A and B only

(3) B and C only (4) A and C only

2P0 XTS5 7802 ENAS B0 HODOEOD & 80 OFT O (10T :

A 381995 S DTN TODDEOA.

B. @8 35S 578030 H0BE e P90 (PHRA) Q20580 (D50 DT®)EN BOHDR0.

C. 3O IV Jrl@een, 1991 DR TN BADDROR.

D DO DD DO ?
(1) A, B&NS» C (2) A BASW B S(ebad
(3) B 0B05» C Sr(ehad (4) A SDHOAW C ST

95. As per Article 164 of the Indian Constitution, there shall be a Minister in-charge of Tribal Welfare,
in which of the following States ?

(1) Meghalaya, Mizoram and Nagaland (2) Jharkhand, Madhya Pradesh and Odisha
(3) Arunachal Pradesh and Assam (4) Kerala and Karnataka

28¢5 072080 (DEBE 164 (D530 & 80 & TR, AB3S H0Z.03° OB $OA o ?

(1) DDA, S T°0 HBAW DTreros (2)  2QO&, DS (DBT HOAW 2.Ax

(8) @BETIS (DTT 0BAW Y0 (4) B8¥ HBNSW ETers

96. The Constitution (One Hundred and Third Amendment) Act, 2019 amended which of the following
Articles of the Indian Constitution to facilitate EWS reservation ?

(1) Articles 13 and 14 (2) Articles 15 and 16

(3) Articles 17 and 18 (4) Articles 19 and 20

T2 S0N0 (e 08 D5Gea) O, 2019 EWS 82B£AS D000 EO)0mds exdeh Tve 50503
&3 808 &) |NZBO DSBODOH ?

(1) (D890 13 HBA8W 14 (2)  (DEGen 15 HBASw 16
(3) (D8BeaeN 17 HOASW 18 (4)  (DEBaeN 19 HE8ASW 20
97. Match the following demands for Statehood/Sub-autonomy with their respective States :
Demand for Statehood !/ Sub-autonomy State

A. Maru Pradesh I. Assam

B. Kosala Rajya II. Rajasthan

C. Kodagu III. Odisha

D. Bodoland IV. Kerala

V. Karnataka
Choose the correct answer :

(1) A-III; B-IV; C-I; D-II (2) A-II; B-III; C-V; D-I
(3) A-1V; B-I; C-II; D-III (4) A-V; B-III; C-IV; D-I
& 808 TR/ SOD0-(HBHEB 35708 O 37¢3 H020HEH T T 23S5DBTV :
O QRI°B3/0, §ADO- (206365€3 e3570K 07830
A K (DBT I. )0
B. & oresg I oS
C. SYeed) III. 2.&ar
D. &&erob IV. 35¢
V. 8Sor)e8
OB QPGP0 DOTNT R :
(1) A-III; B-IV; C-I; D-II (2) A-II; B-III; C-V; D-I
(3) A-1V; B-I; C-II; D-III (4) A-V; B-III; C-1V; D-I

0! g

. .
Keyfacrs Keyfaira



98. The Central Armed Police Forces (CAPFs) include :
A. Assam Rifles (AR) B. Border Security Force (BSF)
C. Central Industrial Security Force (CISF) D. Defence Security Guard (DSG)
Which of the above are correct ?

(1) A, B and C only (2) A, BandD only

(3) A, C and D only (4) B, Cand D only

Bo(& A PO eSS (CAPF &) 9 27Ho ;

A )0 BD) (AR) B. 2730 %050¢3 &5 (BSF)
C. 0(S Q0 (VADS 1ErBE FOY (CISF) D, FDIY) 18rs8¢3 md (DSG)
D DO DD DO ?

(1) A, B 830 C S(ehad (2) A, B 08050 D S(¢had

(3) A, C 835w D Sr(edad (4) B, C 0805 D S

99. What are the roles and functions of the Left Wing Extremism Division (LWE) of the Ministry of
Home Affairs, Government of India ?

A. Capacity building of States to combat Left Wing Extremism (LWE) through schemes of Ministry
of Home Affairs.

B. Deployment of Army and Air Force in LWE affected States.

C. Providing assistance to State Governments for initiatives to combat LWE.

Choose the correct answer :

(1) A,Band C (2) A and B only

(3) A and C only (4) B and C only

2355 12506585, (9sT 008385 § TP aFeNNE. B3¢ 20 (e AW NS ?
A. 5957 0B § B VP T°ST° TYAFO NP0 DOD aFeDNE, Y HTH0D 98FEISO0.
B. To0NE SSareS 2r&es el 50, BIrdE Bered ¢8O0,

C. TNDE, B30 BRI’ TRV S SESESFOE DSFASTY @00TIEO.

OB N QPGP0 DOTNT R :

(1) A, B8as» C (2) A BAW B Sr(ebad
(3) A 0B3W C Sr(ehad (4) B OO C S

100. Which of the following pairs are matched correctly in relation to insurgency groups and their

States ?

A. Garo National Liberation Army —  Meghalaya

B. Kamtapur Liberation Organisation -  Assam

C. Kanglei Yawol Kanna Lup —  Manipur

D. People’s Liberation Army — Nagaland

Choose the correct answer :

(1) A, Band C only (2) A, BandD only

(3) B, C and D only 4) A,B,CandD
& 808 e Dadareren, a7¢3 T°aTeE) HO0QOD & 23ehen DTS ?

A 8 2SS OTAS 88 - ANV ST

B. &350 D280 89IJBAS - ©J°)0

C. 5000 AV 5°3) e - NV=4POM6)

D. NS OBAS 38, - Smrerod

OB DTG0 DOTNE AW :

(1) A, B H805» C 35°(ehadd (2) A, B08A0 D S35°(ehadd
(8) B, C 0805 D Sr(edad (4) A,B,C8a D

EEE
:@: (31) R
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Which of the following statements is/are correct about ‘Jati’ ?
A. Jatis are endogamous units.
B. Considerations of purity and pollution determine the interaction between different units.

Choose the correct answer :
(1) A only (2) B only (3) Both A and B (4) Neither A nor B

258 180D (80O WO’ DA/ DB IE/IDBID ?

A, 20 D2 DT DNFIEEN.

B. DQ(eded HOAN 0| ¢de¢d (Purity and Pollution) G308y 85950 DG DoTIFE oGS DSOS 9S8
(2080°8.8) AGonTom.

OB NITPEFI0 DOTNEDIW :

1) A SreD (2) BIrD (3) ADBASHBTOG> (4) A NBA B BO&y 5%

Which of the following statements about M.N. Srinivas’s view on caste system are correct ?

A. M.N. Srinivas views caste as a segmentary system.

B. For M.N. Srinivas, hierarchy is the core or the essence of the caste system.

C. M.N. Srinivas did not find close relationship between caste and occupation.

D. For M.N. Srinivas, caste is divided into sub-castes.

Choose the correct answer :

(1) A and B only (2) B and C only

(3) A, B and C only (4) A, B andD only

H0OH5D D D0.DS. IATR DO HBOD &5 (80O T3S DD HBI ?

A 0e7) D0.DS. BATR D0 S5I9M 2FAoTTE.

B. 0.08. TR S90S’ (E500i5Fe3 0 oer89550%0 30,

C. D0.0S. AT SIS’ LerE, SIB 50855 UG D000 Bk,

D. J0.0S. TR SRS’ OO0 DBV De5R0IDR0E.

QB AITEPI0 DOTNENIW :

(1) A B35 B Sr(ehad (2) B SHOAW € S
(3) A, B HBAW C S°(ehad (4) A, B 080 D &35°(ehadd
Consider the following two statements :

Assertion (A) :

Social stratification refers to the institutionalized division of society into hierarchically arranged
social groups.

Reason (R) :

Enduring patterns of inequality founded upon customary practices results in the hierarchical
division of society.

Choose the correct answer :

(1) (A)is true, but (R) is false.

(2) Both (A) and (R) are true and (R) is the correct explanation of (A).

(3) (A) is false, but (R) is true.

(4) Both (A) and (R) are true, but (R) is not the correct explanation of (A).

Bo& BOh 550 HBKZ0H0G

B DS (A) :

DS VBEG ORE EIFHSOMT DT°YEN TONDES &S DFeFOS DSFB0 TB0E) DoF°Hs
Q2523530 DN,

52320 (R) :

ODTAD STTT'O D DBIRS VDS @IS ABR DGBID (85011 DeSescdEo O OW.
OB DTG0 DOTNE AW :

(1) (A) &y, 5 (R) &),

(2) (A) DB (R) BOy &y, DBAW (R), (A) B30EY OB DIB€.

(3) (A) &), 5 (R) &,

(4) (A) HBAW (R) DO &uddy, S5 (R), (A) B30E) OB D1Ged S°C.
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Match the following books and authors :

Book Author
A. Who were the Shudras ? I M.N. Srinivas

B. The Coming of the Devi : Adivasi Assertion in II.  Dr. B.R. Ambedkar
Western India

C. Caste, Class and Power : Changing Patterns of III. David Hardiman
Stratification in a Tanjore Village

D. Religion and Society Among the Coorgs of South IV. André Beteille
India

Choose the correct answer :

(1) A-II; B-IV; C-III; D-I (2) A-II; B-III; C-IV; D-I
(3) A-III; B-I; C-II; D-IV (4) A-IV; B-II; C-I; D-III
BO& S35 °¢3 BTI0NBOE 2365 HB Yo :
O30 Sesaves
A 50SB S IR ? I D008 395 (M.N. Srinivas)
B. & %00 9 QB 8O @90IS 39S IS I @ .esb. @030
R0GBOST (Dr. B.R. Ambedkar)
C. 5 50 @08 N30 : ToROH b)) &9 I BIE IFOITS
(FEDTAS AS 2 $02°)0 S8 (David Hardiman)
D.  B8OBOHS ©0& FRB ©SFOl B §r0) @D S - IV. @O BE (André Beteille)
QOBASP®
QB NAPGTEA0 DOTNT W :
(1) A-IL; B-IV; C-III; D-I (2) A-IL; B-IIL; C-IV; D-I
(3) A-IIL; B-I; C-II; D-IV (4) A-IV; B-I; C-I; D-III

Which of the following statements about shifting cultivation are correct ?
A. Tt is called ‘Podu’ in Andhra Pradesh.

B. It is called Jhum among the tribes of Arunachal Pradesh.

C. Itis called Bewar in North Odisha.

D. It is called Bringal in Madhya Pradesh.

Choose the correct answer :

(1) A, Band C only (2) B, Cand D only

(3) A and B only (4) A and C only

DOM EFOTNSE0 020050, & (80 55O A HBID ?

0[S (DTTS AA ¢ @ DEeNTE.

BT (HTF S°Q AB2S BHen A B0 @ DENTED.

&SE 2,37 AA DB €@ DENX.

D. 058 0B5S A (DoAS e e .

OB DTG0 DOTNE AW :

(1) A, B HOAW C S (2) B, C 0805w D S
(3) A X0805» B &(ehad (4) A DB C Sr(evad

Q w >
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106. Which of the following are part of ‘the four noble truths’ in Buddhism ?
A. Sorrow
B. Source of sorrow is ignorance and desire
C. Sorrow can be ended if desire is overcome
D. The way to overcome desire and sorrow is through ‘the tenfold path’

Choose the correct answer :

(1) A and B only (2) A, Band C only
(3) B, C and D only 4) A,B,CandD
180 e3¢5 A 25 B0 ‘TN DB deeserS” a0 ?

A. o

B. 0708 20,0 9230 08050 §6%
C. B0 200 0387, @050 BANSITD)
D. 85 0805 ) BON0T TG0 ‘HA-90T S0

OB QATPET0 DOTNT R :
(1) A B0 B Sr{ehahd (2) A, B80S0 C &r(hadd
(3) B, C S0835» D Sr(edad (4) A,B,C 830D

107. When a person changes his residence or job without status change, such a change is called
as:

A. Vertical mobility

B. Horizontal mobility

Which of the above two is/are correct ?

(1) A only (2) Bonly

(3) Both A and B (4) Neither A nor B

28 558 5 B0y Qa0 S &ESHO SO, 87 T3 SIS, 9ENS0E3 33701 DeDOETEd ?

A, Densy BderdPered
B. 882 30065 therddereh

2 DOGOES” DB/ 2.8y, ?
1) A SrSD (2) BT
(3) A N85 B Bockr (4) A BAW B Bo&y %)

108. Which of the following is the best example of a closed system of stratification ?

(1) Caste system (2) Class

(3) Trade Union (4) Students Union

Jr0HDGS VBESEH (§F DI & (AEDEAS), & 1800 73S’ DO &S Grrden ?
(1) 30 H539 2) &¢o

(3) 52828 o0 4) ey Sono

o g
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109.

110.

111.

112,

@ (35) O]

Match the following tribal festivals with the tribes associated with them :

Tribal Festival Tribe

A. Sarhul I. Koya

B. Bhagoria II. Oraon

C. Medaram Jathara III. Ao

D. Moatsu IV. Bhil

Choose the correct answer :

(1) A-II; B-I; C-IV; D-III (2) A-II; B-1V; C-I; D-III
(3) A-I, B-IV; C-II; D-III (4) A-III; B-1V; C-I; D-II
1BO& A8 HOBINE 9 BN AN BHS 2365350 )o50.

ABe3aS D0 ABeseS &7

A RS L. Sa%

B. &AB0Sr I &8055°S

C. D0 S III. e (Ao)

D. Jrew) . S

OB QATPET0 DOTNT AW :

(1) A-II; B-I; C-IV; D-III (2) AL B-IV; C-I; D-III
(3) A-I; B-1v; C-II; D-III (4) A-III; B-1IV; C-I; D-II
Who among the following is associated with subaltern studies ?

(1) Ramachandra Guha (2) Ranajit Guha

(3) Yogendra Singh (4) Yogendra Yadav
& (808 FBS’ H2r®B) €99500TPOE DOVOEODS S IIE) ?

(1) T0T0(ES e (2) B80S H®

(8) 3ol doh (4) OBr0o(ed AP

The family set up after one’s marriage is called as :

(1) Family of orientation (2) Family of procreation
(3) Family of bilateral (4) Family of unilateral
DTSS0S0 DEIT B0EN02TA), eI DENK:

(1) FNO & 4,6D0BAS (2)  DOTSHIB Foen0o0 (WO e3P (FETDIS)

(3) BS>EE 500000 (PO 68D BerBSS) (1) DE HE S0EN0D0 (PN 6 0rIerBSS)

Which of the following statements is/are correct ?

A. Under Dayabhaga system, sons inherit father’s property only after father’s death.
B. Under Mitakshara system, a son acquires the right to ancestral property since birth.
Choose the correct answer :

(1) A only (2) Bonly

(3) Both A and B (4) Neither A nor B

1BOB T3S DE/AD SBIE/D ?

A. 505 55306, 0B €5 TZEL H0(B HBETS0HB0 HOEDNOE.

B. &3S $5306 FCB0 HE3XNDIE3 0B B t50e e B $E0y ) FocwET.

OB DTG0 DOTNT AW :

1) A SreD (2) BT

(3) A N8 B Bodskw (4) A B0 B BO&Y 5%
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Which of the following Gurudwaras is not a takht (a seat of spiritual authority) of Sikhism ?

(1) Keshgarh Sahib (2) Damdama Sahib

(8) Nankana Sahib (4) Hazoor Sahib

1BOB HATITOS” DE DY SO TBNEY HD) (BST°538 WASS F°S0) S°E0 ?
(1) 37 0 JardS (2) 5P oy

3) dosme D 4) &0 TFerd

Which one of the following terms refers to the process by which certain groups are wholly or partly
denied from full participation in the social, economic, cultural and political life in a society ?

(1) Social inclusion (2) Social exclusion

(3) Assimilation (4) Acculturation

D3P0 FS373E, 08, 00y B8 HOAN TraEod EVS0S” Y DTIFen SIS0z Jomr S
I8 50 DTEE0T 1DEOHD &2 (0B JTereS A SO ?

(1) JrSre3E AP0 (Social inclusion) (2) B @OPB0 (Social exclusion)

(3) 8OVNFI3¢50 (Assimilation) 4) D0 DG (Acculturation)

The Assistance to Persons with Disabilities for Purchase/Fitting of Aids/Appliances Scheme was in
operation by the Government of India since the year :

(1) 1979 (2) 1981 (3) 1995 (4) 2005

DEFOMHOB DIFAITe/EDEBeT (aids/appliances) Sedfe0/e9s08 )80 §0 GTBIODNS 23Sed (D2 ¢
DCE0 & D055 IBOS 0GB 50N HSYE ?

(1) 1979 (2) 1981 (3) 1995 (4) 2005

Which of the following statements on Anti-Human Trafficking Cell launched by the National
Commission for Women are correct ?

A. It aims to enhance awareness among law enforcement officials on human trafficking.

B. It facilitates capacity building to the law enforcement officials on human trafficking.

C. It established special courts for prosecution of offenders of human trafficking.

Choose the correct answer :

(1) A and B only (2) A and C only

(3) B and C only (4) A,BandC

220D STPF® EMAS (FPBSODODS STS5sS @8y Sared H5BBE Do (Anti-Human Trafficking Cell) 2
BO& 5O DD 20 ?

A, 378 @[ BTe R TIEFD), 9s0EN TR ASTROS eSS 205¢0 A ©F 50

B. 38 375 (50 Saregr D) tHr) @0e) TR AT @B EHOES DOTFOAN0EH

C. 3O I3 @8 BaedrBd FOIAS 83 VB FH0 (DB5E TR DT°)EN TR0

OB QPGP0 DOTNT R :

(1) A SO B S35°(ehadd (2) A DBAW C Sr(ebad
(8) B 0B05» C Sr(ehad (4) A, B8 C
Punjabi Suba Movement was a/an :

(1) Environmental movement (2) Linguistic movement
(3) Workers movement (4) Farmers movement

D028 Qo2 ECI5e00 28 :
(1) DT°58€ €S0 (2)  2%ar €5CO§N0
(3) 582500 &5 0 (4) B €§N0
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The main objectives of the Manya Sangam established by Bhagya Reddy Verma are :
A. To educate the untouchables.

B. To oppose child marriages.

C. To oppose Chanda Rail project.

D. To oppose Devadasi and Jogin practices.

Which of the above are correct ?
(1) A and C only (2) Band C only
(3) A, B and D only (4) A, BandC only

23055 B 582 FDODS 0§ DO TINEY SNPS GTF5eN :
A @)D DT sa0DeN IS HEO.

B. 25®§ DarIFe S5e3D8075¢%0.
C
D

. B0 BS (B S5e3B8ocdcso.

. BRI O A ST H5B3BEOTIS0.
2 ¢3S AN 2 ?
(1) A SHBAW C XD (2) B 0BAW C Sr(edad
3) A, B 3508050 D Sr{es 4) A, BB C Sr(S5

Arrange the following events related to Dalit movement in chronological order :

A. Formation of “The Dalit Panthers’.

B. Formation of the National Federation of Dalit Women (NFDW).

C. Establishment of the Backward and Minority Communities Employees Federation (BAMCEF).
D. Formation of the Bharatiya Bauddha Mahasabha (Buddhist Society of India).

Choose the correct answer :

(1) AC,B,D (2) D,AC,B 3) D,C,B,A 4) A, D,B,C

Db 555535708 HOVOEODS &2 [BOB S0NEINER) 57 (SRRSO €08 06
A 'O BDSE JP0DDY DT®YEW.

B. &9 S0arsied 2308 O&res (NFDW) DT°)ew.

C. JNEDAEDS, D8 ST &S5 DSTRs DT°)EN (BAMCEF).

D. 2@3S0% &3 053085 do°)ex (Buddhist Society of India).

OB N QPGP0 DOTNT R :

(1) AC,B,D (2) D,AC,B 3) D,C,BA 4) AD,B,C
Arrange the following social reform movements in India in chronological order :
A. Brahmo Samaj

B. Prarthana Samaj

C. Arya Samaj

D. Satnami Movement

Choose the correct answer :

(1) AB,C,D (2) C,B,D,A (3) D,AB,C 4 D,C,BA
2rSESTIOS’ 18O S8 D0KY B8 ECIFHATD SPO\ESTITEOMT DT YN OO :

A R D0

B. (&8 ddre3o

C. &85 d3rz0

D. 3&) ) &S50

OB DTGP0 DOTRETSW :

(1) A,B,C,D 2 C,B,DA 3) D,AB,C 4) D,C,BA
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Who was the founder of the Arya Mahila Samaj ?

(1) Pandita Ramabai Saraswati (2) Jyotirao Phule

(8) Swami Dayanand Saraswati (4) Raja Ram Mohan Roy
888 oNaTP® IS oI§ITFVEN DI ?

(1) Ho&%eS Bsreron OB 5 2) SSTH IS

(3) 5 BSATI0E DB ged (4) T T JIPaT T°0D

In 2014, at the time of formation of the State, how many districts in Telangana were covered under
the Backward Regions Grant Fund (BRGF) ?

(1) 6 2 7 3 8 4 9

2014 & TV D0 JE)Bre3E, BOOMERIS'D D) BN JHEDAS (Foered A0S H0™E (Backward
Regions Grant Fund — (BRGF)) 9650 D8HS 8 Sz y0m ?

1) 6 2 7 3 8 4 9

Which of the following concepts describes the process of cultural mobility in the traditional social
structure in India ?

(1) Liberalization (2) Privatization

(3) Globalization (4) Sanskritization

2PESTFOS’ D FONTON FSre8E DTS 088 HIOSBOS (DEAND (8od 2rIdereS &
DIV ?

(1) DSVESeD @) (S3e385e

(3) (HJ0DESe 4)  DODyHNESED

Which of the following Forest Conservation Movement was inspired by the Chipko Movement ?
(1) Bishnoi Movement (2) Jungle Bachao Movement
(3) Save Silent Valley Movement (4) Appiko Chalewali Movement
B0 e3¢5 &) @)D HOBE I E5CI500 D&Y E5500 DO DB FOHOE ?

(1) DPAD &d500 (2) 20AS TS &S50

(3) DS VB0 75O &5I500 4) @D TSIO &S50
During the 1960s movement, the Bodos demanded for which separate state ?

(1) Arunachal (2) Bodochal

(3) Udayachal (4) Purvanchal

1960 5350 525555 DNANOS” S°Ee & (HB5E T°aT0 §H0 BSrol TS ?

1) ©SFIS 2) SESS

(3) &AAFIS 4) o500

Which of the following statements on New Social Movements is/are correct ?

A. These movements are primarily concerned with social and cultural spheres.
B. In these movements, mobilization occurs in civil society.

Choose the correct answer :

(1) Aonly (2) Bonly

(3) Both A and B (4) Neither A nor B

S35 3eBE €957 HHBOD, & 180G T WS’ DE/QD DBSE/D ?

A, B8 €583 (DTPOTT Padred DO AP0 a3 SOrrR8 H00HO0DJI.

B. &8 55,80 OadEBe DS H5r230 Q0 238N0,

ABS DTGP0 ORI :
1) A S (2) B P&
(3) A N8 B Bodskw (4) A B0 B BO&Y 5%
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Which of the following statements related to the Dalit Panthers Movement are correct ?

It fought against caste discrimination.

It was founded by Namdeo Dhasal and J.V. Pawar.

It was inspired by the Black Panther Party.

It was a radical departure from earlier Dalit movements as it emphasised on militancy and

revolutionary approach.

Choose the correct answer :

(1) A, B and C only (2) A, CandD only

(3) B, C and D only (4) A,B,CandD

DS 0B €500 HBO0D AN & 180A a5 sS” D HBID ?

A A8 800 NE B0 S5BTEOT FoBOd.

B. Sre0A3IT HOS 0805 B.9. D570 A F0TE.

C. 2¥§ 30d 0 o0& ad )8 Fodod.

D. 28 0003 9D €557 0B DAFOOTP S IENH0E3E JOHE0E A B(STCI0 BN
D58 HEIT V8 (TI§es DD )YOR.

cawy»

OB QATPET0 DOTNE AW :
(1) A, B 805 C S5 (2) A, C08A50 D S5°(hadd
(3) B, C 0HO0S» D X5(ehad (4) A, B,C X80 D

Which of the following statements on Sri Narayana Dharma Paripalana Movement are correct ?
A. It was led by Sri Narayana Guru Swamy.

B. It was a backward classes movement.

C. It was largely confined to Karnataka only.

D. It fought for the rights of Izhavas.

Choose the correct answer :

(1) A, B and C only (2) A, BandD only
(3) A, C and D only (4) A,B,CandD
3 000 552 HOFOS €5¢d500 HOOD BOB s A DBID ?
A B8 B 000 H% 5 POV 0 SO ED.

B. 298 JI0808 S$SHetne ¢Cd5e00.

C. A BV ETEIELL 3775 DONBS O,

D. 98 929 (Izhavas) 75030 0 FT°R0d.

QOB NAPGTEA0 DOTNT W :
(1) A, B 0O C S5 (2) A, B850 D S(ebad
(3) A, C 0O D S(ehadd (4) A, B, C X805 D

Which of the following statements on ethnicity, according to social constructionist approach, are
correct ?

A. Ethnicity emphasizes cultural differences.

B. Ethnicity is cultural.

C. Ethnicity is economical.

D. Ethnicity as a social identity is both collective and individual.
Choose the correct answer :

(1) A, B and C only (2) A, CandD only
(3) A, B and D only 4) A,B,CandD
3728 QTS DGO [DSS0, 233 &3 (808 a5 D OBSD ?
A 223 PO YBE ST 5°8Y TaNK0D.

B. 28 @38 D009 @0%0.

C. 28 @0 s8QEIA.

D. 558550 08050 PRS0 232638 Jrdredd (HB0S) GOENO&.

DB DXTEI0 JOTHET R0
(1) A, B H805» C S°(ehadd (2) A, C08A50 D S5°(ehadd
(3) A, B 805w D X(ehadd (4) A,B,C X805 D
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Which of the following statements is/are correct about the below mentioned social movements in

India ?

A. The Satya Shodak Samaj, founded by Jyotiba Phule, criticised the Hindu religion for creating
inequality in society.

B. The Arya Samaj, founded by Dayanand Saraswati, removed the element of birth as the basis of

hierarchy.
Choose the correct answer :
(1) A only (2) B only
(3) Both A and B (4) Neither A nor B

2PBHTFOS” FXTRE €5IsTO HBOD) &8 (0B PSWIOS DE/QD DBIJ/DBIE ?
A 5By S TDODD Debs TBE DT, FORT NB0 DSTBOS @DSFISOD  DYRF o
DeNBHOV0A.

B. Q055308 OB 0D 6885 03, HERE @0 @03 13X (rSdQET SOHA0D0O.
OB DTGP0 DOTHTIXSW

1) A Sred (2) B 3@

(3) A NS B Bocskw (4) A D8 B BO® 5%

The Nirbhaya Act is formally referred to as :

(1) Protection of Children from Sexual Offences (POCSO) Act, 2012
(2) Criminal Law (Amendment) Act, 2013

(3) Prohibition of Child Marriage Act, 2006

(4) Juvenile Justice (Care and Protection of Children) Act, 2000

&)62)0233 DEFQ) 9ATOZOMT e5® QDI

(1) SohE Jore oG DV & (POCSO) &0, 2012

(2) BIS e (D3Be) T3¢0, 2013

(8) 2re§ DIt A &0, 2006

(4) 27RO BRIV (DO DOBE £ AW BF.€9) L0, 2000

The National Child Labour Project (NCLP) scheme was initiated in the year

(1) 1981 (2) 1985 (3) 1988 (4) 1998
205 2SS (BT (NCLP) HBE0 & 00555065 (2S00t G0o8 ?
(1) 1981 (2) 1985 (3) 1988 (4) 1998

Arrange the following social legislations in chronological order of their enactment :

A. The Child Marriage Restraint Act

B. The Special Marriage Act

C. Hindu Women’s Right to Property Act

D. Hindu Marriage Act

Choose the correct answer :

(1) A,B,C,D (2 B,C,D,A 3 C,D,B,A 4) AC/B,D
BOA il HEre SrPotded S|S0 arSorT @S0k

A 2O QIO TFHE W&o

(DB5E D HEOo

C. JPONF® erde e Jr80y &0

D. 3roddr Qarsyr &0

ISISENIPSINV A LN TORNTOINMSIN VN

1 A,B,C,D (2 B,C,D,A 3 C,D,BA 4 ACB,D

=
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With reference to the Panchayats (Extension to Scheduled Areas) (PESA) Act, 1996, which of the
following statements are correct ?

A. It gives special powers to the Gram Sabhas in Scheduled Areas.
B. It was established after Bhuria Committee recommendations in 1995.

C. The Ministry of Panchayati Raj is the nodal ministry for the implementation of the provisions of
PESA in the States.

Choose the correct answer :
(1) A and B only (2) Band C only
(3) A and C only (4) A,BandC

JOTTOHBEN (AEFLS ooy FGA0SY) (PESA) t5&)0, 1996 & H00H0D, & 1808 oS
QBID ?

A RSP (FoTS'Q (T DIOH B (HBE 0BT 2RO

B. 1995 & 258055 EQ0¢3 DS NEE AI ErFoBoTT.

C. OarS 2 (PESA) 2053 @008y HOTTahe o7 0B 37 SO oSt T
GONOA.

OB DTG0 DOTNT R :
(1) A X835 B S(ehad (2) B 0BAW C Sr(evad
(3) A X0B3W C Sr(ehad (4) A, BX8a%» C

Arrange the following Commissions on Education in India in chronological order of their
constitution :

A. National Commission for Higher Education and Research.

B. Radhakrishnan Commission on University Education.

C. Kothari Commission.

D. University Grants Commission.

E. National Knowledge Commission.

Choose the correct answer :

(1) D,E,C,B, A 2 B,D,C,EA
3) A,B,C,D,E 4) C,D,B,E,A
2rBHTFOS’ D &2 (80 EADD 37¢3 DT Y0 SGEOMP (S5 DHSOM @080
A FAIS A HB 570050 DSBAS B0 8.

B. T89S A8 68 058 )¢E8 DesEAS.

C. §5°8 $AS.

D. G588 (oS ) 1S,

E. 3236 o8& 008,

OB DTG0 DOTNT AW :
(1) D,E,C,B, A (2) B,D,C,E, A
3)AB,C,D,E 4 C,D,B,E,A

. .
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Which of the following statements related to the provisions of the Transgender Persons (Protection
of Rights) Act, 2019 is/are correct ?

A. It defines a transgender person as one whose gender does not match the gender assigned at
birth.

B. The Act mandates the establishment of separate Human Immunodeficiency Virus

sero-surveillance centres specifically for transgender persons.

C. Every establishment is required to designate a complaint officer to address grievances related to
violations of the Act.

Choose the correct answer :
(1) A only (2) Both A and B
(3) Both Band C (4) A,BandC

EPSIBOBB) S58ven (500 B €9) TS0 2019 E0 HODOEODN (80O T WS’ DE/AD 20 ?

A DSB8 BOED oS TS HE8N IR 88 TEFoNoDS Bodd & HOFOE €8 SFHOD 1ErS) Bokd
H530en™ B FDODOA.

B. & OO0 1ErS) Bo%d S50 FH0 (HDBLEOT TVENS AX05S” BRAOHA) 8D DE-IB50Q)
O[T DT°YEN TATOQ STZODOE.

C. & OO TBF) GLOMNIOZ H0D0HONS JTENOD HBNFBONTAE (D3 DOP 28 S0
OB QOO GOLNO.

OB DTG0 DOTNT R :
1) A ISP (2) A B35 B Dok
(3) B X605 C Bothy (4) A, B8A» C

Which of the following statements regarding SVAMITVA scheme is/are correct ?

A. This scheme is associated with the establishment of clear ownership of property in rural

inhabited areas.

B. By utilizing GIS maps, this programme supports the preparation of a better Gram Panchayat
Development Plan.

Choose the correct answer :

(1) Aonly (2) Bonly

(3) Both A and B (4) Neither A nor B

506 § (SVAMITVA) D50 HB0D 1808 55" DE/QD OBSE/DBID ?

A. S8 HHB0 PN B (roTredsS @RS DN AST2Srds QTR SNEDE G08.

B. 2009 (GIS) Hered (maps) & SHTIAOTIH0 T 0" & SIS0 RS (P DTN €S9
DT DEL HASTE) TANOES’ 5 )E0S0E.

ISICEN IS INV A LN TORNTOINMSIN VN
1) A S (2) B IS

(3) A N8 B Bodskw (4) A B0 B BO&Y 5%
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Which of the following statements with reference to the National Commission for Scheduled Tribes
(NCST) are correct ?

A. It was set up by amending Article 338 of the Constitution.

B. It was established through the 89" Constitution Amendment Act.

C. The Chairperson, Vice-Chairperson and the other members of the NCST shall hold office for a
term of five years.

D. At least one member of the Commission should be a woman.

Choose the correct answer :

(1) A, Band C only

(2) A, B and D only

(3) B, C and D only

(4) A,B,Cand D

TS B 2D EMAS (NCST) HB0D 1§08 s A OB ?

A. T2s000S°Q e385S 338 Q H580tH%0 3 5T° A DTN TFS.

B. 3& 89 07237500 03889 DO ° ST° 0000 R0H.

C. NCST 3008 TB0E) BOIBIS, BV BODSIS DO 958 D205 DA 570 0D DO )T e
GONOA.

D. A8 92050 $0 2.8 ere o).

OB DTG0 DOTNT R :

(1) A, B 83w C S

(2) A, B 805 D X5(ehadd

(3) B, C 000 D S(ehadd

(4) A, B,CH3aS» D

Which of the following statements is/are correct ?
A. The Domestic Violence Act, 2005 guarantees justice to women who suffer domestic violence.

B. The Act can be implemented properly if the awareness about the Act increases among people in
the country.

Choose the correct answer :

(1) A only

(2) B only

(3) Both A and B

(4) Neither A nor B

1808 DO’ DE/AD DBIE/DBID ?

A, By5Tarod &0, 2005 Ky 08 KBTS DeTEDE) FPSON0 WONEE S JNOE.
B. 3% 103 8 503 @XM OB S8 IR, DIEDOM 95000 TODNSITD).
OB DIPGEI0 DOTHE W

(1) A Sr(edad

(2) B Sr(edad

(3) ABOSW B Bodky

(4) A DO B o 5%

. .
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140. Arrange the following Women Empowerment Schemes in India in chronological order :

A. Launch of the National Rural Livelihood Mission (NRLM) with a focus on women’s self-help
groups.

B. Implementation of the Mahila Samakhya Programme to empower women through education and
awareness.

C. Establishment of Rashtriya Mahila Kosh (RMK) to provide microfinance support to women
entrepreneurs.

D. Initiation of the Pradhan Mantri Matru Vandana Yojana (PMMVY) providing financial
assistance to pregnant women.

Choose the correct answer :
(1) A,C,B,D 2 C,A,D,B 3) B,C,A,D 4) D,ACB

28530 ANEY 180 Y QTGS DHTOD SPO(EST NI SO €908 )0

A, TP HION0 DIFAHE HDOIFPOD (DSBS g 230 (PN B3 SFE WIS (NRLM) (E0250.

B. D5 08050 @SS 3 S0° S0l $e) OS5 Seh F0 arw™ Dedrdds SE5E00 e@soew.

C. T T )ord FOFWETSOL IFEINETS 7 ST° DIFON0 WOBOTOLHE T QD e 55

(RMK) QT°)E.
D. #8)e0e%) &8 JIFPAN0 @0AOTONR (DGTPIDN0(E 83y 50D e (PMMVY) (Q°S0350.
QB DIPS0 DOTHTI0W
1 AC,B,D 2 C,A,D,B 3 B,CAD 4 D,AC,B

141. Match the following Legislative Acts with the year in which they were enacted :

Legislative Act Year
A. The Bengal Sati Regulation I. 1976
B. The Hindu Widows Remarriage and Property Act II. 1870
C. Female Infanticide Act III. 1989
D. Equal Remuneration Act IV. 1829

Choose the correct answer :
(1) A-IV; B-III; C-II; D-1
(2) A-III; B-IV; C-I; D-II
(3) A-II; B-I; C-IV; D-III
(4) A-IV; B-II; C-III; D-I
BOA B BT 9 EFTFOAODS H0NSIEOS 2365030 )o% :

Fr0 W30 D0a3€3 ) Fod
A ZBord S AoDOo(esed O I. 1976
B. 5700 D505 HB §63770 DOAM €8x L0 II. 1870
C. (X3 e S0 1. 1989
D. QXS SevS 9¢0 Iv. 1829
OB QPGP0 DOTNT R :

(1) A-IV; B-III; C-II; D-I
(2) A-IL B-IV; C-I; D-II
(3) A-II; B-I; C-IV; D-III
(4) A-1V; B-II; C-III; D-I
Io] (44) [=
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Which of the following Sustainable Development Goals (SDGs) of the UN focuses on reducing
inequalities within and among countries ?

(1) SDG 4 (2) SDG 6
(3) SDG 10 (4) SDG11

QE5T°235 DA Ty, &2 (80O VS @S5HR OFTIOS A TIOS” OB B 065 DXTSHIO
N0IR0 20 B9 VRSB0 ?

(1) VS 9DIYE ©&.50 4 (2) VS 9DJYE ©&.50 6

(3) VB DN @850 10 4) V8 @DJHE @& 50 11

Which Section of the Pre-Natal Diagnostic Techniques (Regulation and Prevention of Misuse) Act,
1994 prohibits any advertisement relating to prenatal determination of sex ?

(1) 18 (2) 20 3) 22 4) 24

1D-FS OO VE BEYE) (DOHO(HED sHBAKN B $ATrHO DarSed) IO, 1994 S°Q & VE.S, SO
ADoK AT G0 HOVOHODN (DELIDOR AN ?

1) 18 2 20 (3) 22 4) 24

Darshanam Mogulaiah, the Padma Shri recipient, is known for revitalizing :
(1) Perini dance in Telangana (2) Yakshagana

(3) Musical instrument-Kinnera (4) Musical instrument-Dolu

DB 0T (68, 9853850 NHOODS, A HSKLEI0HTIHTAE THS EI8 (D :
(1) BOOrereS DOES Sgeh50 (2)  aHZITSO

(3) 83)8-D0ofied arancsso 4) Een-Hofie *o0cd50

Who is the author of the book “The Fall and Rise of Telangana” ?

(1) Kaloji Narayana Rao (2) Vikram Chandra
(3) Keshav Rao Jadhav (4) Gautam Pingle

“O S ©0& BE @9 BOOMR” HE Bda0ed oSS ?
(1) 5% 5°0°0HE T°Y) 2) DB ol
(3) 34 T 220 4) v DON

Which of the two districts of Telangana were categorised as ‘Most Hungry’ districts by the Twelfth
Five-Year Plan of the Planning Commission ?

(1) Khammam and Mahbubnagar (2) Nalgonda and Mahbubnagar

(3) Medak and Mahbubnagar (4) Nalgonda and Khammam

IET DS HOGNO TNEY DRY0BS DI (DT DE (D5°B0 B0’ &) BOK B ‘@es0eh esEO)'SS
©©NE30T BTN SOEB0TTS ?

(1) 2020 NBAW T S50 (2) S0 HBOW LSS SKd

(3) DT K838 dTraareS SKb 4) S50 OO PO
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‘Bhagela system’ that prevailed in Telangana refers to :

(1) share cropping in cultivation of crops.

(2) share paid to the artisan castes at the time of harvest of the crop.
(3) cheap or often compulsory free (unpaid) labour.

(4) a type of exchange of money or goods in agrarian economy.
BOOTEPS' (HDOOM Y)Y, ‘ZHer 5550 AAQ DN

(1) D0 FHES’ 250 DO,

(2) HOE &S DNANOS T Sy Foererdd TOOT e

(3) T8 B SV QB0 b [Fod.

(4) S5570% €308 5506 2,8 BEDS o) B> HNY S8 YA,

Which of the following statements on Jogini practice is/are correct ?

A. Most of the women who are labelled as Jogini belong to marginalized sections of society.

B. Besides parental poverty, other major causes for converting young girls into Joginis are
superstition and religious beliefs.

C. The system was abolished in the year 1957.

Choose the correct answer :

(1) A only (2) Bonly

(3) A and B only (4) A,BandC

S0 P& HB0D (0B 5O DB/ DBIE/OBIN ?
A. SAIT SVBIES PSS e sBEe DSTBOS’ D eI ST TOASTT.

B. G500 SR0M™ SrEIEd8 OG0 DOBE0S e, s SeddgsTen B s
DB PN QB (DS BT eN.

C. & HSS 1957 H0XS IS0 QA0 DB0E.

QB NAPGTEA0 DOTNT W :
(1) A Sr(edad (2) B 3w
(3) A SO B 3375 (4) A, BXOS»C

In which year was the first literary association Sri Krishnadevaraya Bhasha Nilayam established in
the city of Hyderabad ?

(1) 1889 (2) 1901 (3) 1903 (4) 1905
D 50551306 TTRT2rE S FEYNTIT-OD 22T ALON0 B 'O Frarehs D00 DT°YEN LONOE ?
(1) 1889 (2) 1901 (3) 1903 (4) 1905

Which of the following places is included in the UNESCO tentative list of world heritage sites under
the Iconic Saree Weaving Clusters of India ?

(1) Gadwal (2) Pochampally

(3) Narayenpet (4) Siddipet

2r3STE0 S HTIE DY FD DrerFe 1805 OO, (UNESCO) Bwg) &e)yOF (D0 806 S
BTOS IO TEIDEOE ?

1) dorgS 2) B0HO

(3) T°TOND VL 4) BV
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